B Hydraulic chucks series

® Pneumatic chucks series

B Parts & ACCESSOries series
B Scroll chucks series

® Super Thin chucks series

B Steel Body chucks series

" DIN 6350 chucks series

® | MC Wheel chucks series

CHANDOX

FEfSTIremwnsmam
FEREEMm T 2ET —I8458
EEEE : 04-7978666 (10§R) / {SEL : 04-7978660

CHANDOX PRECISION INDUSTRIAL CO,, LTD.
No. 4, Gong 1st Rd., Shengang Shiang, Changhua County 509, Taiwan.

Tel:886-4-7978656 (3 lines) / Fax:886-4-7978662 (OVERSEAS)
http://www.chandox.com / E-mail:chandox@chandox.com , chandox@ms76.hinet.net

Y

LHRER / Edition 03,2011

5

[7]

RINTED WITH

OY INK|

Comngr by VLS, 04-24751010

& cHANDOX

1S090014C€

www.chandox.com

- 5 s &2 I 88

CHANDOX PRECISION CHUCKS



CHANDOX

BIIZFS19834F +4 Established in 1983

(@12 4) &8 ~ 23t~ 88 [Three concepts] Quality, Design, Manufacture
O FERHEESE—NES U cHANDOX provides products of the best quality.
O TERHSRERIFTIESLR U eHANDOoX provides products of innovative design.
O TERIREEERISHES ) eHANDOX provides products of professional manufacture.
(ew {@ 8 3% ) [Four insistences]
O RFIRSREFSHAT O BEfIREFSEEIFTHIEI 0 We insist on the most outstanding human resources. U We insist on the most innovative technology.

O BIRFRCENSEKE O BfIREEENIRIRE 0 We insist on the most advanced equipments. 0 We insist on the most perfect manufacturing environment.



CHANDOX YEESR FIINMIE The4lisHeiRishkER-TELE4

NEW PRODUCT HIGHLIGHT All series of CHANDOX products
have products liability insurance of US $2,000,000.

CL-DP OPB P-S PL RT
= MO ESHEESREE (KiRE) RILE = MEE 22 HEEPEEE ARILE B NI HE BT AT\ HEEPEEE ST\ R R R R BISEIR BRI APS
3-JAW SOLID POWER CHUCKS LARGE THROUGH HOLE 3-JAW LARGE THROUGH HOLE PULL BACK ROTARY AIR 2 ACTUATING AXES SELF-
HIGH SPEED POWER SUPER THIN HOLLOW POWER CHUCKS CHUCK FIXTURES CENTERING SOLID AIR CHUCK
CHUCK ROTARY HYDRAULIC CYLINDER FIXTURES
MTB MR-S MTK MTK-T TK TK-T B
KERDEE3E EREL =T REERER AR EBEE = TR B3 42 AR EEE MR R ES =MGBE R R 3EEH ZMGEBE R R B 3EEE KEDiS3E
AIR FEED TUBE 3-JAW AIR CHUCK 3-JAW SUPER PRECISION 2-JAW SUPER PRECISION 3-JAW SUPER 2-JAW SUPER AIR FEED TUBE
FIXTURES BUILT-IN 2 AIR CHUCK FIXTURES AIR CHUCK FIXTURES PRECISION AIR CHUCKS PRECISION AIR CHUCKS
CYLINDERS

o AESHBETEPA
; This product reaches the
repeatability of * p degree ".

-
“
-

@ ®EE S

- BREYP5EE LMC WHEEL CHUCKS
UM Workholding

(Made In USA)
EEEE




JHEEZEER7 A3 / HYDRAULIC CHUCKS SERIES

08 OPT

— MR
ChZe R 3R ER
2-JAW HIGH SPEED

HOLLOW POWER
CHUCKS

09 OP
=MisiE
ChEEH R SEEE
3-JAW HIGH SPEED

HOLLOW POWER
CHUCKS

10 OPF
DTS
CPZE;H RE SR
4-JAW HIGH SPEED

HOLLOW POWER
CHUCKS

11 P
15535 P 225 R SE P L
SUPER HIGH
SPEED HOLLOW
ROTARY

HYDRAULIC
CYLINDERS

12 P-S

R =z
SHIEE S T

HIGH SPEED
COMPACT HOLLOW
ROTARY
HYDRAULIC
CYLINDER

13 OPB
AILEE= TV
CPZE S RESERE

LARGE THROUGH
HOLE 3-JAW HIGH
SPEED POWER

CHUCK

14

KILIEEEE
CP 225 AE S L

LARGE THROUGH
HOLE SUPER THIN
HOLLOW ROTARY
HYDRAULIC

CYLINDER

15 PL

#hUHEE SRS

PULL BACK
POWER CHUCKS

16 CLT
— Mo ERFEEE

2-JAW SOLID
POWER CHUCKS

17 CL
=MchESHERYE0E
3-JAW SOLID

POWER CHUCKS

18 CL-DP
= Mo EHEESEER

3-JAW SOLID
POWER CHUCKS

19
CREDH BT ET
SOLID ROTARY

HYDRAULIC
CYLINDERS

P R T ]
(ML)

SOLID ROTARY
HYDRAULIC
CYLINDER

{ BUILT-IN CHECK
VALVE )

21

CREHER TS EL
(B LS R i A0 EEE )

SOLID ROTARY
HYDRAULIC
CYLINDER

{ BUILT-IN CHECK
VALVE & SENSOR )

PR T\ R 22 EE
—mzzhg
2-JAW HOLLOW
POWER CHUCK
FIXTURES

( HYDRAULIC )

24
PR\ P Zes AR
=mzzig
3-JAW HOLLOW
POWER CHUCK

FIXTURES
( HYDRAULIC )

SREBZRARARI

PNEUMATIC CHUCKS SERIES

2NN
MRS EhsRI
SUBESRAR

2 ACTUATING AXES
SELF-CENTERING
SOLID AIR CHUCK
FIXTURES

PR ChZe s B
ZMzz88
2-JAW HOLLOW
POWER CHUCK
FIXTURES

( PNEUMATIC )

24

PR Ze s B
=
3-JAW HOLLOW
POWER CHUCK
FIXTURES

( PNEUMATIC )

e MTK-T

P
ABNEEE TSR TEAg

2-JAW SUPER
PRECISION AIR
CHUCK FIXTURES

26 MTK

AR e
=MmEsEss

3-JAW SUPER
PRECISION AIR
CHUCK FIXTURES

27 TK-T
TV B S B B

2-JAW SUPER
PRECISION AIR

CHUCKS
28 TK
=MiBFEE R R IRER

3-JAW SUPER
PRECISION AIR
CHUCKS

29 TB, TBC
et isel S h
AIR FEED TUBE

BB EE (GEIKED

AIR FEED TUBE
( FOR GRINDER
MACHINES )

30 ADP, J
G A
MOUNTING PLATES

IBYEEESREREM

SOFT JAWS FOR
SUPER PRECISION
CHUCKS

31 FR, MTB

EYEEAE MR ELER

FORMING RINGS
(FOR SOFT JAWS OF
SUPER PRECISION
AlR CHUCKS)

FEONEE
AIR FEED TUBE
32 MR
=MSREERER
3-JAW AIR CHUCK

33 MR-S

SRR = T\ [BE 5EEH
3-JAW AIR CHUCK
BUILT-IN 2
CYLINDERS

34 RT-T
—MGEFE N S R PE AR

2-JAW ROTARY AIR
CHUCK FIXTURES

=M S BT AR

3-JAW ROTARY AIR
CHUCK FIXTURES

FHEHFRI
PARTS & ACCESSORIES

S PE LZ|

e - (—

BAR STOPPER
CNCESFRATHIES §
BAR PULLER FOR -

CNC LATHES

SHEEET

SOFT JAWS
( SJ-SERIES ) FOR
HYDRAULIC
CHUCKS

36
1SERHEEEM

SPECIAL SOFT
JAWS FOR

HYDRAULIC = oy
CHUCKS J'J____,

37
SEEREETT

HARD JAWS
( HJ-SERIES ) FOR
HYDRAULIC
CHUCKS

37
EAITNFEEREA LM

SOFT JAWS FOR |00
PULL BACK POWER J (]
CHUCKS o 7 i

38
by
MOUNTING PLATES

FENREAFRI
SCROLL CHUCKS SERIES

BB =MZEEE

3-JAW SCROLL
CHUCKS

SERYTUT\ZEER

6-JAW AWL TYPE
CHUCKS

EENEIPUT\EER

4-JAW SCROLL
CHUCKS

SR\ TUIEER

8-JAW AWL TYPE
CHUCKS

4
B =/T\3EEA

3-JAW POWERFUL
TYPE SCROLL
CHUCKS

4
EEEE = T\3EER

3-JAW A1 TYPE
CHUCKS

347738 SN EU0Y TSR

4-JAW POWERFUL
TYPE SCROLL
CHUCKS

EER = T\3EER

3-JAW D1 TYPE
CHUCKS

SEIIEM

POWER SOFT
JAWS

ETE IR AR
SUPER THIN CHUCKS SERIES

56 /7B R TR AR

POWERFUL TYPE
SUPER THIN
CHUCKS

<l
TS BUEEIEAR

SUPER THIN
SQUARE CHUCKS

ETERAR

SUPER THIN
CHUCKS

R IRERFRSI

STEEL BODY CHUCKS SERIES

2L TNT
8B S SR — T\ 3EH

2-JAW STEEL BODY
CHUCKS

47
BN ERE = MZEEE

3-JAW STEEL BODY
CHUCKS

48

I mE
=IMEMRAZEER
3-JAW

ADJUSTMENT

STEEL BODY
SCROLL CHUCKS

48

A EEE
O T\ SRS 2 6
4-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

49

arEat s
MRS BEEH

2-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

49

[REL b PRl
=MEMRe5EEE
3-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

50

[ EC =t ek
PO M EiRE 55 EE

4-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS




INDEA

DINEX#R & EE A
DIN CHUCKS SERIES

51
= TR 5 TA
3-JAW

STEEL BODY
SCROLL CHUCKS

52 3DACT

SrER EmE
=/MIArRzEEE
3-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

51 4DCT
EiER0 T MR SRR

4-JAW
STEEL BODY
SCROLL CHUCKS

52 4DACT
SR EER
OO T SRR 5E0R
4-JAW
ADJUSTMENT

STEEL BODY
SCROLL CHUCKS

53 6DCT
A TR 2SR

6-JAW
STEEL BODY
SCROLL CHUCKS

54 6DACT
OIEAE S E
USRI BEER

6-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

53 3DKT
58708 = MIERATEER

3-JAW POWERFUL
TYPE STEEL BODY
CHUCKS

54 3DAKT
e pakic]
=MEAREZEEE

3-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

55 4DKT
58 77800 M SR 5EEE

4-JAW POWERFUL
TYPE STEEL BODY
CHUCKS

0 4DAKT|

DI Rk

PO Ti S R e 8

4-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

55
34 7J8Y7 TSR PEER

6-JAW POWERFUL
TYPE STEEL BODY
CHUCKS

56

iz OE
7SR JEER

6-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

PR IRERART

LMC WHEEL CHUCKS SERIES

M Workholding

57,58
1REFIRERSRT

STANDARD AND
LIGHTWEIGHT
SERIES

RS

LEAN
PRODUCTION
SERIES

ZEDEBIENEE/
SHIEREL

CHUCK
ACTUATORS

—MEEPZEHER R ER

R < @ » Dimensions

OPT-204,0PT-205 &I

2-JAW HIGH SPEED HOLLOW POWER CHUCKS

OPT-206,208,210,212,215 &
#R & 3= > Specifications
B A8 TEBIRER
MODEL Nose Of B C D E
/ SPEC. Spindle (h6)
OPT-204 - 110 59 85 - -
OPT-205 A=-4 135 60 110 63513 20
OPT-206 A5 169 81 140 82563 15
OPT-208 Az-6(Az-5) 210 91 170 106.375 17
OPT-210  A-8(A-6) 254 100 220 139.719 18
OPT-212 A8 304 110 220 139.719 18
OPT-215 A-11(A=-8) 381 133 300 196.869 22
o [ T T A A
/ SPEC.
OPT-204 14 23 203 115 67 35 -65
OPT-205 14 262 235 19 6 1 -9
OPT-206 20 32.35 296 24 7 11 -1
OPT-208 25 39.1 354 30 10 145 -15
OPT-210 30 515 474 34 12 85 -105
OPT-212 30 616 56.3 46 12 8 -15
OPT-215 43 823 T 46 13 75 -16
RIS /1015 L — A
VOB Jawotoe  anspee  'Fa
/ SPEC. m r.p.m.(min"") kgt (KN)
OPT-204 54 8000 920 (9)
OPT-205 5.4 7000 1120 (1)
OPT-206 55 6000 1420 (14)
OPT-208 7.4 5000 2240 (22)
OPT-210 8.8 4200 2850 (28)
OPT-212 10.6 3300 3670 (36)
OPT-215 10.6 2500 4790 (47)

A7 790
J

v <
aD

Et F G H H1 |
- 4 - 706 - »
-~ 4 96 826 PCDpl118 4-M8x1.25P
~ 5 116 1048 PCDo145 6-M10x1.5P
23 5 150 1334 PCDo180 6-M10x1.5P
28 5 190 1714 PCD@225 6-M12x1.75P
~ 6 190 171.4 PCD@250 6-M12x1.75P
33 6 260 235 PCD0324 6-M12x1.75P
Q R S T U vV ow X
23 10 175 2 M32x15P 12 24 495
25 10 20 2 M4OX1.5P 12 315 62
31 12 19 2 M55xP 20 37 73
3 14 205 2 MBOx2P 80 39 95
40 16 25 2 M85x2P 40 43 110
50 21 28 2 MI100X2P 50 51 129
62 22 425 5 M130x2P 48 66 165
AR
o R B
Force M%slggg;. Wﬁlght
kot KN em (Mpa) D
1930  (19) 155  (15) 3.6
2340 (23) 19 (19) 6.5
3770  (37) 185  (1.8) 13.1
5710  (56) 17 (1.7) 23.0
7440  (73) 18 (18) 359
9690  (95) 18 (1.8) 56.6
12130 (119) 17 (17) 1032

26
33
45
52
75
91
117.

Qg
e a ﬂ I@
Nk
%_
|| et
B
E{T/UNIT:mm
K L
4-M10x1.5P -

4-M10x1.5P 15
6-M10x1.5P 16
6-M12x1.75P 18
6-M16x2P 19
6-M16x2P 25

5 6-M20x2.5P 28

WILEE EETE

b § Thru-Hole  Plunger
[Diameter]  Stroke
(mm) (mm)
- 26 10
- 33 10
- 45 12
104.8 52 16
133.4 75 19
- 91 23
171.4 117.5 23
Matching Gripping
Cylinder Range
P1036 27~0110
P1036 010~0135
P1246 o13~0169
P1552 @13~0210
P1875 @30~p254
P2091 @35~0304
P2511 35~p381




=M&EEPZEHERZZER

R 9 B >» Dimensions

3-JAW HIGH SPEED HOLLOW POWER CHUCKS

T
B-S =
B
El
B
OP-204,205 & OP-206,208,210,2128 OP-215,218,221,224 &
#5 & 5= > Specifications
: 380
J i o,
mh%g%tg ﬁmﬁﬁ A B C D E Bi F @ H H1 I1
ose
/ SPEC. Spindle
OP-204 - 110 59 85 - —- -~ 4 - 706 - =
OP-205 A4 135 60 110 63513 20 -- 4 096 826 PCDe118 3-M8x1.25P
OP-206 A5 169 81 140 82563 15 - 5 116 104.8 PCDo145 6-M10x1.5P
OP-208 A-B(A-5) 210 91 170 106.375 17 23 5 150 133.4 PCDg@180 6-M10x1.5P
OP-210  A=-B(A-6) 254 100 220 139.719 18 28 5 190 171.4 PCD@225 6-M12x1.75P
OP-212 A8 304 110 220 139.719 18 - 6 190 171.4 PCDo250 6-M12x1.75P
OP-215 A-11(A-8) 381 133 300 196.869 22 33 6 260 235 - =
OP-218  A=-11(A=8) 450 133 300 196.869 22 33 6 260 235 PCDo230
OP-221  A-15(A=-11) 530 140 380 285775 27 41 6 330.2 330.2 PCDo300 3-M16x2P
OP-224 A-20(A=-15) 610 149 520 412.745 27 42 6 463.6 463.6 PCDo350 3-M16x2P
=
%.%QE? I3 J K L M N N O O P P QR S
;SPEC max. min. max. min. max. min.
OP-204 - 26 3-M1Ox1I5P - 14 23 203 115 67 35 -65 23 10 175
OP-205 -- 33 3-Miox15P 15 14 262 235 19 6 1 -9 25 10 20
OP-206 = 45 6-M10x15P 16 20 3235 296 24 7 11 -1 31 12 19
OP-208 = 52 6-M12x1.75P 18 25 391 354 30 10 145 -1.5 35 14 205
OP-210 . 75 6-M16x2P 19 30 515 471 34 12 85 -105 40 16 25
OP-212 . 91 6-M16x2P 25 30 616 563 46 12 8 -15 50 21 28
OP-215  3-M12x1.75P 117.5 6-M20x2.5P 28 43 823 77 46 13 7.5 -16 62 22 425
OP-218  3-M12x1.75P 120 6-M20x2.5P 28 43 838 785 78 18 7.5 -16 62 22 425
OP-221 3-M16x2P 180 6-M24x3P 33 60 119.6 114.3 63.3 21.3 105 -13 65 25 425
OP-224 3-M16x2P 205 6-M24x3P 37 60 1344 128.4 87.3 213 135 -11 65 25 425
y - - miTiE - B ASRE
B /1848 BAEC HEOR (9W) gmpws WD WD e,
AL Y [j[)ﬁ&ral’ll'l:l';loelﬁ Pstlrgglg(gr 'ESW Strok? Max.Speed "rqce ?orcgp i Né,ax Hydr.
/ SPEC. iameter] r.p.m.(min" ressure
mm)  (mm)  PEEeT P gt TN kgt KN e i)
OP-204 - 26 10 5.4 8000 1428 (14) 2850 (28) 24  (2.3)
OP-205 - 33 10 5.4 7000 1730 (17) 3570 (35) 29  (2.8)
OP-206 - 45 12 5.5 6000 2140 (21) 5710 (56) 28 (2.7)
OP-208 104.8 52 16 7.4 5000 3360 (33) 8360 (82) 26 (2.5
OP-210 133.4 75 19 8.8 4200 4280 (42) 11010 (108) 27  (2.6)
OP-212 = 91 23 10.6 3300 5500 (54) 14380 (141) 27  (2.6)
OP-215 171.4 1175 23 10.6 2500 7140 (70) 18250 (179) 245 (2.4)
OP-218 1714 120 23 10.6 2000 7140 (70) 18250 (179) 245 (2.4)
OP-221 235 180 23 10.6 1700 9080 (89) 23760 (233) 31.5 (3.0)
OP-224 3302 205 26 12 1400 9080 (89) 23760 (233) 31.5 (3.0)

PCD@230 3-M12x1.75P PCD@300
3-M12x1.75P PCD@300 3-M12x1.75P PCDw@380
PCD@380 3-M16x2P PCDe460
PCDe450 3-M16x2P PCD@550

T

o NN NN

; R
FE HEFE A

Weight
(kg

3.8
6.1
125
21.9
33.7
55.3
106.8
152
195.2
269.4

u

M32x1.5P
M40x1.5P
M55x2P
M60x2P
M85x2P
M100x2P
M130x2P
M130x2P
M195x2P
M220x3P

B /UNIT:mm

Vv

12
12
20
30
40
50
48
48
80
80

Matching
Cylinder

P1036
P1036
P1246
P1552
P1875
P2091
P2511
P2511
P2816
P2816

H3

w X

24 49.5
315 62
37 738
39 95
43 110
51 129
66 165
66 165
73.5 180
73.5 180

HRFFEE
Gripping
Range

o7~2110
810~2135
213~2169
213~8210
830~0254
835~0304
235~0381
840~0450
@115~@530
2140~0610

PO/M &SR P ZE5H ER 28R

R B » Dimensions

4-JAW HIGH SPEED HOLLOW POWER CHUCKS

35 #& F= > Specifications

B /RS THSRER

MODEL Nose Of B C

/ SPEC. Spindle (h6)

OPF-206 A5 169 81 140

OPF-208  A-6(A-5) 210 91 170

OPF-210  A-8(A=-6) 254 100 220

OPF-212 A8 304 110 220

OPF-215  A-11(A-8) 381 133 300

B /RE N N

MODEL max. min. mca)x. rn(%.

/ SPEC.

OPF-206 20 3235 296 24 7

OPF-208 25 391 354 30 10

OPF-210 30 515 471 34 12

OPF-212 30 616 563 46 12

OPF-215 43 823 77 46 13
MiT#E

B RS (EfE) BEEERE

MODEL Jaw Stroke Max.Speed

/ SPEC. [Diameter] r.p.m.(min")
(mm)

OPF-206 5.5 4500

OPF-208 7.4 3600

OPF-210 8.8 3200

OPF-212 10.6 2500

OPF-215 10.6 1800

82563 15

106.375 17
139.719 18
139.719 18

196.869 22

min.

1 -1

145 -1.5
85 -10.5
8 -15

75 -15

BRAALN
Max. Pull
Force
kgf  (KN)

1630 (16)
(24)
(31)
(40)

(53)

2440
3160
4080
5400

El

23
28

33

Q

3

40
50
62

f

1\
F_- E1
B
E{iI/UNIT:mm
F G H1 I J K L
5 116 1048 PCDg145 4-M10x1.5P 45 4-M10x1.5P 16
5 150 1334 PCD@180 4-M10x1.5P 52 4-M12x1.75P 18
5 190 171.4 PCDg225 4-M12x1.75P 75 4-M16x2P 19
6 190 1714 PCDe250 4-M12x1.75P 91 4-M16x2P 25
6 260 235 PCD@324 4-M12x1.75P 1175 4-M20x2.5P 28
BILEE HEETE
R S T U Vv W X Y Thru-Hole  Plunger
[Diameter]  Stroke
(mm) (mm)
12 19 2 M55x2P 20 37 73 - 45 12
14 205 2 M60x2P 30 39 95 104.8 52 16
16 25 2 M85x2P 40 43 110 1334 75 19
21 28 2 M100x2P 50 51 129 - 91 23
22 425 5 M130x2P 48 66 165 1714 117.5 23
R AERREF N ) fahic
o BEEN  PE  pmuay  JEE
Max. Gripping Max. Hed : i ok
ey Peere ' Veewg  Gobors
kgt  (KN) kgflom® (Mpa) 9 Cylinder g
4180 (41) 21 (2.1) 14.2 P1246 222~0169
6010  (59) 19 (1.9) 245 P1552 025~0210
8050 (79) 20 (2.0) 38.1 P1875 028~0254
10400 (102) 20 (2.0) 60.5 P2091 ©35~6304
13600 (134) 19 (1.9) 111.5 P2511 ©63~0381

10



1= 328 O 28 5H JBR 508 85 iR T

R = B > Dimensions

SUPER HIGH SPEED HOLLOW ROTARY HYDRAULIC CYLINDERS

W T
i F2
6E1 Rl Al
at W\—T i L~
S
] \‘ i’
Kg woooN ;] ﬁ‘a%|§§;<;3+--—9 B 3 -8 = 958
! =
I =i
NF1\H
|
i PT1 /5
it ]
#8 #8 3= > Specifications B {i7/UNIT:mm
.
EAMS m B C G D DI E E1F F1 F2 G GI H JoJ K KU
1 SPEC. (h7)
P1036 11 120 136 25 115 - 100 M5x0.8P 65 6-M10x1.5P o 48 126 M42x1.5P 36 68 32 46 15
P1246 12 126.5 155 30 130 - 100 Meéx1P 80 12-M10x1.5P - 65 134 M55x2P 46 76 36 46 15
P1552 12 136 190 30 170 - 130 M6x1P 85 12-M10x1.5P - 70 145 M60x2P 52 875 36 46 15
P1875 17.5 1545 215 35 190 - 160 M6x1P 125 12-M10x1.5P - 95 162 MB85x2P 75 101 36 46 15
P2091 21 168 240 35 215 - 180 M6x1P 140 12-M12x1.75P - 110 183 M100x2P 91 110 36 46 15
P2511 27 191 310 45 275 - 230 MexiP 166 12-M16x2P - 140 218 M130x2P 117.5 135 40 46 15
P2816 22 201 345 45 298 305 260 M8x1.25P -- 12-M12x1.75P 12-Mi6x2P 190 229 M175x3P 166.5 180 50 60 15
Y
%%’B%F Mi N Nt P P1 Q Q1 Ri 8§ S T T™ U Ul VV W W WX
/ SPEC. max. min. max. min.
P1036 446 38 55 64 73 6 80 4-M5x0.8P(PCDe88) 5 105 PT3/8 115 6 179 154 10 -5 39 M44x15P 24 42
P1246 529 50 64 76 B85 4 90 4-M5x0.8P(PCDe98) 6 116 PT1/2 115 6 184 172 10 -5 40 M52x1.5P 25 50
P1552 596 55 73 85 96 4 102 4-M6x1P(PCDe110) 7 135 PT1/2 130 6 196 210 17 -5 47 M58x1.5P 25 56
P1875 846 80 98 108 121 4 131 4-M6x1P(PCDe155) 7 164 PT1/2 160 4 230 235 20 -5 50 MB84x2P 25 81
P2091 996 95 108 120 138 4 147 4-Méx1P(PCDg165) 7 180 PT1/2 185 6 253 260 25 -5 55 M99x2P 25 96
P2511 1346 125 148 160 178 5 184 4-M6x1P(PCD@206) 7 230 PTi1/2 210 7 304 302 24 -6 55 M134x2P 25 130
P2816 185 171.5 210 224 244 5 250 6-Mé6x1P(PCDe275) 7 316 PT3/4 2625 -- 308 -- 24 -6 65 M185x3P 35 180
- 3 B JOEER BAKGN
ﬂ% /3848 o EOEE EEET e | ?‘il fﬁﬁlﬁi’] (cm?) Max. Operating Force w@gh
MODEL  z Max. Speed  Piston ., Leakage ax. 43 | | eight
/ SPEC. S(g,?#f r.p.m.(rﬁin*) Dia(mm) (kg:m?) F{atg Pressure ?E?;ﬁ“ ?up?aﬂiﬂﬂ PEE? éﬂiée Pﬁljgli%jje (kg)
(¢/min)  kgflem? (Mpa) Side Side  kof (KN)  kof (KN)
P1036 5 15 8000 105 0.012 3.0 40 (3.9) 70 68 2500 (24.5) 2400 (23.5) 9.0
P1246 5 15 7000 125 0019 3.0 40 (39) 100 89 3700 (36.2) 3200 (31.3) 11.9
P1552 5 22 6200 155 0.053 39 40 (3.9) 160 150 5900 (57.8) 5500 (53.9) 17.3
P1875 5 25 4700 180 0.096 4.2 40 (3.9) 198 183 7200 (70.5) 6700 (65.6) 26.4
P2091 5 30 3800 205 0.16 4.5 40 (3.9) 252 235 9200 (90.1) 8600 (84.3) 37.0
P2511 6 30 2800 250 0.5 7.0 40 (3.9) 348 336 12400 (121.5) 12000 (117.6) 63.0
P2816 6 30 2000 280 3.5 8.4 40 (3.9) 346 332 12200 (119.6) 11800 (115.7) -

"

E RS SR P28 BRSO 8 T

R = B > Dimensions

..Izll.G.H SPEED COMPACT HOLLOW ROTARY HYDRAULIC CYLINDER

W u v
Al A1 B1 z
6-E1 T
AL HH
- -1 B - s
2188 % 5E g R iz 3
F .
s
. .
G1
#8 #8% 3= » Specifications ES{i/UNIT:mm
et
s a0 B ¢ 6 D EE F F1 G Gt H J 4 K
/ SPEC. (h7)
P1246S 9 117.7 165 30 130 100 M6x1P 80 12-M10x1.5P 65 117 M55x2P 46 80 40
P1552S 9 1255 190 30 170 130 M6x1P 85 12-M10x1.5P 70 125 M60x2P 52 91 40
P1875S5 1.6 143 215 35 190 160 M6x1P 1256  12-M10x1.5P 95 143 M85x2P 75 107 40
BTl /R4S
MODEL K1 L1 M N N1 P P1 Q Qi R1 S S1 ] T u
/ SPEC.
P1246S 46 15 50 64 76 85 o 90 4-M5x0.8P(PCD@98) 10.5 121 PT1/2 125 6 164.2
P1552S 46 15 55 73 85 96 4 102 4-Méx1P(PCD@110) 10.5 137 PT1/2 140 6 1722
P1875S 46 15 80 98 108 120 4 126 4-M6éx1P(PCDg155) 10.5 165 PT1/2 170 4 1973
BTl /3518 EETIE T3l SEd EEEE
MODEL b m\;’,‘ ,,\,'i"n mV:x_ wi ,‘T'::':, X z Piston Stroke Max.Speed Piston Dia
/ SPEC. (mm) r.p.m.(min") (mm)
P1246S 183 1005 -495 4425  M52x1.5P 2025  49.8 5 15 7000 125
P15528 208 17.05 -4.95 50.15 M58x1.5P 28.15 55.8 5 22 6200 155
P1875S 234 20.05 -4.95 53.15 M84x2P 28.15 80.8 5 25 4700 180
: : ] EEEE BAHE () 7
%%E iglﬁ GD2 " ii;f(ﬁﬁ 5 I\?%fgf-ﬁ BN Piston Area (cm2) Max. Operating Force
il Leakage Rate .
/spec.  (kam?) i) gten® o) AL HI78 #79@PushSide  HI/JEIPUI Side
Push Side  Pull Side kaf  (KN) kaf  (KN)
P1246S 0.019 3.0 40 (3.9) 100 89 3700 (36.2) 3200 (31.3)
P1552S 0.053 3.9 40 (3.9) 160 150 5800 (57.8) 5500 (53.9)
P1875S  0.096 4.2 40 (3.9) 198 183 7200  (70.5) 6700  (65.6)

12



13

RILE=M

=R P ZEHER ZX 5H

R < B > Dimensions

#7 ¥% & > Specifications
B /RS THBERSEE

MODEL Nose Of

/ SPEC. Spindle
OPB-206 A5
OPB-208 A6
OPB-210 A8
B RS

MODEL M N

/ SPEC. max.
OPB-206 20 36.35
OPB-208 25 46.6
OPB-210 30 54.6
BT RS

MODEL v W

/ SPEC.
OPB-206 20 37.5
OPB-208 30 39.5
OPB-210 40 43
BR/EE DA

MODEL e

/ SPEC. gt oK)
OPB-206 2200 (21.5)
OPB-208 3400 (33)
OPB-210 4300 (42)

X

;
m
=

A B C D
(n8)
170 a1 140 282.563
215 91 170 2106.375
256 100 220 ©139.719
N o] 0] P
min. max. min. max.
33.6 21.1 9.1 7
429 26.6 11.6 10
50.1 33.1 13.6 8.5
BILEE
X b4 Thru-Hole
[Diameter] (mm)
73 104.8 52
80 133.4 66
110 171.4 81
RARREN RAKEHERT]
Max. Gripping Max. Hydr.
Force Pressure
kgf (KN) kgt/cm? (Mpa)
5800 (58) 21 (2.0)
8800  (86) 26 (2.5)
11100 (109) 29 (2.8)

20
22
28

min.

-5.1
-6.1
-10.1

4
D.LARGE THROUGH HOLE 3-JAW HIGH SPEED POWER CHUCK

k|

Plunger Stroke

Q

31
35
40

HETE
(mm)
12
16
19

FE
Weight
(kg)
12.3
2157
33.6

H J
PCDe122 52
PCDg150 66
PCDe180 81

R S
12 23
14 25
16 25

miTig (B
Jaw Stroke
[Diameter] (mm)

55
7.4
8.8

B
AR BUSR
Matching
Cylinder

P1452S
P1666S
P1881S

B I/UNIT:mm

K

6-M10x1.5P
6-M12x1.75P
6-M16x2P

M60x2P
M75x2P
M90x2P
= e 0iEE
Max.Speed
r.p.m.(min")
6000
5000
4200

JESEE
Gripping
Range
213~0170
p50~2215
834~0254

RILIEBAEE
225 [BX 5 8% iR T

1.EFHE - ES - EENEES - EELEIDEEE - iZEREE)\E1E
 TEERIEEEET - LR SMIEE -

2 KHVERSLE - ASLEREHEN T Bilm3 L fEavEEEEm -

3. =S - NRIEOIRERET - HRZesd Z BRFIHD T RIFHETD -

R = B » Dimensions

au1

LARGE THROUGH HOLE SUPER THIN HOLLOW ROTARY HYDRAULIC CYLINDER

1.Super thin & Lightweight:
Super thin outer structure makes the weight
lighter than the traditional rotary cylinders;
meanwhile, the compactness and miniaturization
lower the burden of machines.

2.Large Thru-hole Diameter:
With large open center, gripping range of Bar
stock can be increased.

3.Built-in Check Valve:
With built-in " check valve", work pieces can be
effectively prevented from flying out during
abrupt failure of pressure.

#7 % & » Specifications BE{iT/UNIT:mm
BT /R
MODEL Al B1 C Cc1 D E E1 F F1 F2 G G1 H1
/ SPEC.
P1452S 9 109.2 180 30 165 140 M6x1P 85 12-M10x1.5P 6-M8x1.25P 70 1139 M60x2P 120
P16663 9 120.7 209 35 190 168 Mex1P 95 12-M12x1.75P 6-M10x1.5P 85 1254 M75x2P 145
P1881S 10.7 133.7 222 35 205 168 Méx1P 110 12-M12x1.75P 6-M10x1.5P 100 139.2 M90x2FP 166
BT 1RAS
MODEL J Ji K K1 L1 M1 N N1 P P1 Q (@)} R1 S S1 T T U
/ SPEC.
P1452S 52 83 40 46 15 55 73 85 96 4 102 M6x1P 105 137 PT 1/2 130 4 155.7
P1666S 66 99 40 46 15 70 88 100 111 4 117 MexiP 10,5 161 PT1/2 150 5 170.2
P1881S 81 1075 40 46 15 85 103 113 126 4 132 Méx1P 10.5 176 PT 1/2 175 5 189.2
BT 4RAS EETE BE DR EEEE
MODEL U1 mgx_ n:.n mﬁ_ wi n‘ﬁ, X1 < Piston Stroke Max.Speed Piston Dia
/ SPEC. (mm) r.p.m.(min") (mm)
P1452S 201 17 -3 48.2 M58x1.5P 28.2 55.8 5 20 6500 145
P16665S 229 19 -3 50.2 M74x1.5P 28.2 71.8 5 22 5600 165
P1881S 244 21.1 -3.9 53.2 M89x2P 28.2 85.8 5 25 4800 180
‘ B FEE B (1) 77 ‘
%%6 i%‘_ﬁ apz {*E ” BaERE] Piston Area (cm2) Max. Operating Force W)%ih
il Leakage Rate Max. Pressure 3 SN eight
jspec,  (kam?) U Kt (M) PRl H7OB #IBPushSide HIEIPUISide (ko)
Push Side Pull Side kaf  (KN) kot (KN)
P14525 0.035 3.9 40 (3.9) 137 126 4860 (47.6) 4464 (43.7) 12.3
P1666S 0.07 4 40 (3.9) 170 157 6048 (59.3) 5580 (54.7) 17.4
P1881S  0.09 43 40 (3.9) 191 175 6804 (66.7) 6264 (61.4) 21.9

14



#HI I\ HEEIREE

P _P.ULL BACK POWER CHUCKS

FBHRITVHERERFERZRFRIREDEA » THAE 5% - EARE

{FRE|AFRIDIT -

1 RIS T RANEEEE L BR58E - EIREHl -

2 EFEREEH - ORAER » LEREERSNERBE -

3. RN B EPINERE DT THA LFSE - EXREEFENN

ITHREE -
4. AIRAEINER - BESEEERIR -

R = B >» Dimensions

Pull back feature of radial gripping will lead to
almost no work piece uplifting displacement;
CHANDOX Pull Back Power Chucks are ideal

— MOAEH/ER 2R EH

R = B > Dimensions

P

C I- 2-JAW SOLID POWER CHUCKS

Suiid

o

Al =

S

J A, s
B o for machining casting and forging parts;
5 s 1. By appressing the gripped work piece to the
| LB || surface, CHANDOX Pull Back Power Chucks
= /.u are suitable for heavy machining.
—‘ L 2. Chuck Actuators with cylindrical structure are
% durable and ensures high gripping repeatability.
% D : 3. Accurate self-centering and pull back features
< gl || 8% are adequate for precise length control
& 7°7'30" machining requirements.
I 4. Optional components can be selected for
Fl Nk detecting the right position on an automated
i L loading machine.
B
#7 ¥8 & » Specifications BEfiT/UNIT:mm
e A B c D E F G G H J J
/ SPEC. max. min. max. min.
PL-06 169 83 140 82.563 15 <) 15 5 70 46 36
PL-08 210 97 170 106.375 17 5 16.5 6.5 84 57 47
PL-10 254 110 220 139.719 18 5 22 6 100 68 52
PL-12 304 125 220 139.719 18 5] 21.5 5.5 120 72.5 56.5
QM%’E%? [ K L M N N P P Q R
/ SPEC. max. min. max. min.
PL-06 - 6-M10x1.5P 14 104.8 56.65 54 33 23 35 32
PL-08 26 6-M12x1.75P 17 133.4 69.65 67 38 28 40 38
PL-10 32 6-M16x2P 24 171.4 87.8 82 48 32 50 50
PL-12 36 6-M16x2P 20 171.4 102.8 97 47 31 60 52
BT /3RS HETE THTEEE B 0ER mAK]
MODEL S U Plunger Stroke Jaw Stroke Max.Speed Max. Pull Force
/ SPEC. (mm) (Diameter) mm r.p.m.(min") kgt (KN)
PL-06 36 M16x2P 10 53 3500 1326 (13)
PL-08 36 M20x2.5P 10 5.3 3000 2142 (21)
PL-10 46 M24x3P 16 11.6 2500 3060 (30)
PL-12 50 M27x3P 16 11.6 2000 4386 (43)
R /RS RARRE/ BARTHEEN FE BB B RS RIFEE
MODEL Max. Gripping Force Max. Hydr. Pressure Weight Matching Gripping
/ SPEC. kgf (KN) kgflom®  (Mpa) (ka) Cylinder Range
PL-06 2958 (29) 2 (2.2 13.8 L1020 635~0160
PL-08 4896 (48) 22 (2.2) 27.8 L1225 240~0210
PL-10 4998 (49) 30 (2.9) 45.9 L1225 ©50~p254
PL-12 7242 (71) 30 (2.9) 75.7 L1530 ©50~0304

15

#8 #% 7= > Specifications

IR  THBEmER A B c
MODEL Nose Of ik
/ SPEC. Spindle

CLT-06 A=5 165 74 140
CLT-08 A=-6(A=-5) 210 85 170
CLT-10 A=-8(A:=-6) 254 89 220
CLT-12 A:-8 304 106 220

BT R
MODEL K L M N
{ SPEC. max.
CLT-06 6-M10x1.5P 14 20 37.8
CLT-08 6-M12x1.75P 18 25 46.3
CLT-10 6-M16x2P 25 30 514
CLT-12 6-M16x2P 25 30 60.7

BT /1R84S
MODEL U vV w
/ SPEC.
CLT-06 4 M16x2P 34 39
CLT-08 5 M20x2.5P 38 42
CLT-10 5 M20x2.5P 45 46
CLT-12 5 M20x2.5P 50 54

B R BANI BARRIT
MODEL Max. Pull Force Max. Gripping Force
/ SPEC. kgf (KN) kgf (KN)
CLT-06 1220  (12) 3460 (34)
CLT-08 1630 (16) 4990 (49)
CLT-10 1930 (19) 7140 (70)
CLT-12 2750 (27) 10300  (101)

73
95
110
129

D E E1 F G
82.563 15 - 5 116
106.375 17 23 5 150
139.718 18 28 b 190
139.719 18 - 6 190

N (0] o] P P Q
min. max. min. max. min.
33.25 1561 9.1 101.5 81.5 31
41.9 221 10.1 127 106 35
47 30.6 9.6 158 133 40
55.45 48.6 12.6 163 133 50
HETRE M7 (Eff)
¥ Plunger Stroke Jaw Stroke
(mm) [Diameter] (mm)
- 20 8.5
104.8 21 8.8
133.4 25 8.8
- 30 10.5
R EHEE ] BE TEECHERE] YR
Max. Hydr. Pressure Weight Matching
kgffcm? (Mpa) (kg) Cylinder

17 (1.7) 11.1 L1020

16 (1.6) 21.3 L1225

19 (1.9) 32.6 L1225

20 (2.0) 57.0 L1530

104.8
133.4
171.4
171.4

12
14
16
18

B {i{/UNIT:mm

21
25
34
34

36
36
36
36

I=piel xS

Max.Speed

r.p.m.(min")
5000
4000
3500
3000

RfFEiE
Gripping
Range
29~0165
212~0210
215~0254
220~0304

16



= /MOPEH/ER 2 EH

R B > Dimensions

C ,3.-]AW- SOLID POWER CHUCKS

CL-15,188!
2

#5 #% ¥& > Specifications
B
/ SPEC. Spindle
CL-05 A4 135 55 80 63.513 =
CL-06 A5 165 74 140 82.563 15
CL-08 Az-8(A=-5) 210 85 170 106.375 17
CL-10 Az-8(A:-6) 254 89 220 139.719 18
CL-12 A:-8 304 106 220 139.719 18
CL-15 Az-11 381 114 300  196.869 22
CL-18 A-11 450 114 300 196.869 22
mEE . . . o o o
j’ SPEC max. min. max. min. max. min.
CL-05 30.4 27.2 171 9.6 9 -6
CL-06 37.8 33.25 156.1 9.1 101.5 81.5
CL-08 46.3 4.9 221 10.1 127 106
CL-10 51.4 47 30.6 9.6 158 133
CL-12 60.7 5545 486 12.6 163 133
CL-15 69.056 60.97 58.06 40.05 104 69
CL-18 9946 9138 58.05 40.05 92 57
et erg  EETE (Bl  peews BAID
MODEL S't-'r’;%‘;’ ng Str?ke Max.Speed Forco
/ SPEC. (mm) [ I?rann?)er] r.p.m.(min") kgf  (KN)
CL-05 15 6.4 5500 800 (7.8)
CL-06 20 8.5 5000 1730 (17)
CL-08 21 8.8 4600 2440 (24)
CL-10 25 8.8 4000 2850 (28)
CL-12 30 10.5 3200 4080 (40)
CL-15 35 16 3000 8260 (81)
CL-18 35 16 2700 8260 (81)

g

E1

25
31
35
40
50
62
62

na
w
[=: T => R« > BN & RN 5 R4 R |

R

10
12
14
16
18
25.5
25.5

116
150
190
190
260
260

S

35
36
36
36
36
55
55

BRARREA
Max. Gripping
Force

kgf
2450
5200
7440
10810
15500
25290
25290

(KN)

(24)
(51)
(73)
(108)
(152)
(248)
(248)

\u

o \u
i B _u-%j g
)
ELI T \x
EllL
B (L)
(CL-05)
H J K
100 = 3-M8x1.25P
1048 21 6-M10x1.5P
133.4 25 6-M12x1.75P
171.4 34 6-M16x2P
171.4 34 6-M16x2P
235 - 6-M20x2.5P
235 - 6-M20x2.5P
T u v W
2 M12x1.75P 28 31
4 M16x2P 34 39
5 M20x2.5P 38 42
5 M20x2.5P 45 46
5 M20x2.5P 50 54
7 M30x3.5P 60 68
7 M30x3.5P 60 68
Egé% iﬁlﬁ%ﬁﬂ%
it g AL
kgticm® . (Mpa) (kg) Cylinder
25 (2.5) 6 L0815
25 (2.5) 1.4 L1020
25 (2.5) 21.9 L1225
29 (28) 334 L1225
29 (28) 585 L1530
32 (3.1) 100.6 L2035
32 (3.1) 134.3 L2035

11

K

E1

BE{iI/UNIT:mm

L M

14
14
18
25
25
32
32

14
20
25
30
30
43
43

X

62
73
95
110
129
165
165

HEFFEE
Gripping
Range
88~2135
218~0165
212~0210
216~0254
@18~2304
068~6381
285~0450

= /MOPEH/ER 2R EH

R = B > Dimensions

#2 1% #& > Specifications
I /FRE  EHBRSEE i
MODEL Nose Of
/ SPEC. Spindle
CL-15DP A=-11 381
CL-18DP A-11 450
CL-21DP A=-15(A=-11) 530
CL-24DP  A-15(A=11) 610
Wb NN 9
/ SPEC. ' ’ '
CL-15DP 69.05 60.97 58.05
CL-18DP 99.46 91.38 58.05
CL-21DP 80.49 72.41 101.8
CL-24DP 119.49 111.41 101.8
mgs  HEOR (D
Plunger  jaw Stroke
TSIPEELL: Stroke  Diameter]

L (mm) (mm)
CL-15DP 35 16
CL-18DP 35 16
CL-21DP 35 16
CL-24DP 35 16

C I_' D .3.-.]AW SOLID POWER CHUCKS

C
(n6)

118 300

118 300
129 380
129 380

min.

40.05
40.05
41.8

41.8

LR
Max.Speed

r.p.m.(min"")

3000

2700

1900

1700

196.869

196.869

285.775

285.775

P

max.

104

92

96.95

96.95

min.

69

57

61.95

61.95

BmAHIN
Max. Pull

Force

kgf

8260
8260
8650

8650

(KN)

(81)
(81)
(85)

(85)

B3R %s
J_' AT ul <
§L SIS
= \
} E— 7°7'30" T"
i :
F K
L N F \Is
2 8
E E1 F G H
22 - 6 260 235
22 - 6 260 235
27 41 6 330.2 330.2
27 41 6 330.2 330.2
Q R S T u
62 25.5 55 g M30x3.5P
62 25.5 55 7 M30x3.5P
65 25 55 7 M30x3.5P
65 25 55 7 M30x3.5P
AN e
Max. Gripping I\;'Iax Hvd
Force P YL
kgficm (Mpa)
25290 (248) 32 (3.1)
25290 (248) 32 (3.1)
27000  (265) 33 (3.2)
27000  (265) 33 (3.2)

6-M20x2.5P

6-M20x2.5P
6-M24x3P

6-M24x3P

60 68

60 68
60 75.5

60 75.5

) %E g,
b il
Matching
Cylinder

L2035
L2035
L2035

L2035

B {i{/UNIT:mm

L M

32 43

32 43
33 60

33 60

165
165
180 235
180 235

TEFFECE
Gripping
Range
068~0381
285~p450

@55~2530

©130~610

18



)
B 511D ROTARY HYDRAULIC CYLINDER (BUILT-IN CHECK VALVE)
ChESHBEREESEL (M LseseEs)

SOLID ROTARY HYDRAULIC CYLINDERS
Ch B H BT 85 &L

1. 8O ER Ee
BN ERE » ILUBOMMHEN TS REESRE -
2.ZFIBE
Pl LE OISR Bt » 142E s BEFFHD T RITHESD -
R Y B >»Dimensions R ¥ B > Dimensions
K P K P 1.Super thin structure:
L M 5 Super thin outer structure reduces the
il i interference with machines and lowers the
@ BB APIE burden of machines.
N BT 2.Built-in Check Valve:
/{ N ﬂ\ q / [ . With built-in "check valve", work pieces can be
ranyl f effectively prevented from flying out during abrupt
I O 5 =T
@ ® &t 5 = JFT:F-% 504989 Y8R failure of pressure.
! Y
@j lrw [ e
PT1/4"
R AT
#7 ¥% & » Specifications BEf'I/UNIT:mm #2 #& 3= > Specifications BEfiI/UNIT:mm
BT R4 C RUTY /4848
G I
MODEL A B 55 D F H J K L E G K L
I SPEC. (h7) (H8) TS?FPE% A B C D (h7) F (H8) H J
L0815 75 15 115 90 65 30 21 M20x2.5P 35 137 72
L1020R 105 20 135 100 80 30 21 M20x2.5P 35 172 86
L1020 105 20 135 100 80 30 21 M20x2.5P 35 155 72
L1225R 125 25 160 130 110 35 25 M24x3P 45 180 86
L1225 125 25 160 130 110 35 25 M24x3P 45 163 72
L1530 150 30 190 130 110 45 31 M30x3.5P 45 173 72 L1530R 150 30 190 130 110 45 31 M30x3.5P 45 189 84
L2035 200 a5 245 145 120 55 37 M36x4P 60 191.5 72 L2035R 200 35 245 145 120 55 37 M36x4P 60 206.5 83
ﬁ!i\?}iﬁﬁ ;—égfig ﬁ%@ﬁﬂﬁ )=t & =i =
MODEL M N L L Q R Piston Stroke Max. Speed %‘E}QEF M N P P Q R Piﬁf‘sﬁ;&e ,\?ﬁ‘gﬁiﬁ
/ SPEC. - ( mm ] rp.m (min.‘) /1 SPEC. R min; ( mm ) rp.m (min")
L0815 65 a7 46 31 6-M8x1.25P 102 15 6000
L1020R 86 132 45 25 6-M10x1.5P 137 20 6000
L1020 83 115 45 25 6-M10x1.5P 120 20 5500
L1225R 94 140 51 26 6-M12x1.75P 145 25 6000
L1225 a1 123 51 26 6-M12x1.75P 128 25 5500
L1530 101 133 56 26 12-M12x1.75P 138 30 4000 L1530R 105 149 56 26 12-M12x1.75P 154 30 5500
L2035 119.5 151.5 69 34 12-M16x2P 156.5 35 4000 L2035R 123.5 166.5 69 34 12-M16x2P 1715 35 5500
: — EEEE 3 EEES
B /A GD? - AR B=EHET) Piston Area ( cm?) RAKET) PE BT /88 GD? . E s ARES Piston Area ( cm?) JAHEN PE
I:\rdgFl?EEé. (kg-m?) Qil Leafkage Rate Maxé Pressure HEIE I Max. Push Force Weight MODEL (kgm?) Oil Leakage Rate Max. Pressure - S Max. Push Force Weight
; (¢/min) kgf / cm (Mpa) Push Side Pull Side kgf (KN) (kg) / SPEC. (¢/min) kgf / cm? (Mpa) Push Side Pull Side kgf (KN) (kg)
L0815 0.006 0.8 40 (3.9) 44 37 1600 (15.7) 4.2
L1020R 0.013 0.8 40 (3.9) 86 79 3200 (31.4) 6.6
L1020 0.013 0.8 40 (3.9) 86 79 3200 (31.4) 5.9
L1225R 0.023 0.8 40 (3.9) 122 113 4600 (45.1) 8.8
L1225 0.023 0.8 40 (3.9) 122 113 4600 (45.1) 8.1
L1530 0.048 0.8 40 3.9) 176 160 6500 (63.7) 11.9 L1530R 0.048 08 40 (3.9) 176 160 6500 (63.7) 12.8
L2035 0.098 0.8 40 (3.9) 314 290 11800 (115.6) 214 L2035R 0.098 08 40 (3.9) 314 290 11800 (115.6) 22.5

19 20



% PAV2ACTUATING AXES SELF-CENTERING SOLID AIR CHUCK FIXTURES
PRl B ED >R I SRR SR &8

g E SRS E H WS R SR T EFSERVII T MmaEst - XY
PR R B R SR Rz THRIREEE T HRINZTIEE - R3IXISE :

1R FHRE - EER T FRIRRENER » KRERSERFHERE
NEEFHEHFE -

2. fhEEsEE « AITIFE EAVSASETIF « UIERTEIERSEARERNEE »
ERRBOVEASmREE -

3.%iE M ~ BEDIL - BRIREIHIVE—EIRET - MEEER/INAE
FERSBIEX, Y MuEh e 5 S mAAIFENE » BRFEREIAFPIL - B2
PRERNEE T - EE—HESHITEERIBEIMR -

I-' SOLID ROTARY HYDRAULIC CYLINDER (BUILT-IN CHECK VALVE & SENSOR)

CPERSH BR E §F i T
(B L5 R SRS i )

2 actuating axes self-centering solid air chuck
fixtures is great for machining center. Two

\ pairs of jaws clamp one after another to

B assure a workpiece to be locked completely.

1.Rust-proof for Pneumatic Cylinder:

R <F B > Dimensions &t ¢ ST RERARAAS T IRMI R <F B > Dimensions

Note: Proximity switch is an extra option.

Inside wall of cylinder being rustproof treated,
cylinder can work under wet or high moisture
J circumstances without rusty or seized trouble.
fa/ L s b\ 2.Dusts-proof and Waterproof:
L L ) = Dust-| f and Waterproof structure prevents
o [ & O —1— o | = ust-proof a aterp p
153 il b i ®® = 0 _..—. 7 J .Uls'.f ) ks = work-chips and coolant water from entering into
_-—‘%I S 5 8 & \ N\ NNk /I [ : inside of chuck cylinder to maintain its accuracy and
H X NE B/ % 14 lead to longer service life.
e | @ _'/' \ I'.a-_o [ I || 3.4-jaw Clamping and Self-centering:
SR i \) [fe | 4-jaw clamping are steadier for machining. Two pairs
$,’ gf_l'-_r_r_mj(//;w: 15| |D of jaws are moved independently to assure complete
L= = lock and self-centering.
#5 {& 2= > Specifications BE{/UNIT:mm & A2 B {51 > Operation Example
BT /4R G IRIE - #EHE ~ BENE
MODEL A B c D E F H Speed, Accurate, Automatic
/ SPEC. (h7) (H8)
PER D BIZERF - BEDIL
L1020RE 105 20 135 100 80 30 21 M20x2.5P 4-jaws clamping and self-center
L1225RE 125 25 160 130 110 35 25 M24x3P
L1S30RE 150 30 190 130 110 45 31 M30x3.5P (EZEAZEFEF) Piston "A" Clamping (;EZEBHEFF) Piston "B" Clamping
L2035RE 200 35 245 145 120 55 37 M36x4P #8248 3= > Specifications EEA/UNITmm
-
e K L M N P P i B D E F G H | J K L M N
/ SPEC. i i / SPEC.
L1020RE 35 231.5 145.5 86 132 45 25 MA-06 224 175 20 130 170 40 73 20 12 31 18 e11 2202
L1225RE 45 239.5 145.5 94 140 51 26 MA-08 265 210 22 154 196 42 95 25 14 35 18 o1 2243
L1530RE 45 248.5 143.5 105 149 56 26
L2035RE 60 266 1425 1235 166.5 69 34 MA-10 315 250 25 176 222 46 110 30 16 40 18 213 @285
MODEL Q R T Piston Stroke Max. Speed Sy MODEL 0o P Q HEfR) HI7ofE
/ SPEC. (mm) £p.m (min’) (kg-m) / SPEC. Push Side Pull Side
L1020RE 6-M10x1.5P 137 46 20 6000 0.013 MA-06 M10x1.5P(PCD 2202) 4-M8x1.25P(PCD 2124) 4-M8x1.25P(PCD ¢156) 127 108
Lisene CrMidai 100 198 29 = 6900 0,523 MA-08 M10x1.5P(PCD 2243 4-M10x1.5P(PCD @140 4-M10x1.5P(PCD ©186) 184 157
L1530RE  12-M12x1.75P 154 46 30 5500 0.048 . i x1.5P(PCD 2140) KLERFOR
L2035RE 12-M16x2P 1715 46 35 5500 0.098 MA-10 M12x1.75P(PCD @285) 4-M10x1.5P(PCD @176) 4-M10x1.5P(PCD @224) 270 239
b x si % _ = f— f —Ez‘—:{é % §
WX o SRR o BT AN gst /gty BIEEEHE PisonAreacmt) BRI (BE)  EEET) -
Oil Leakage Piston Area ( cm?) Plunger Jaw Stroke Gripping Force At Air Pressure b LT
MODEL Rate Max. Pressure HHE HH Max. Push Force o #OR KR Stroke (Diameter) 7kgt/cm? (0.7Mpa) Weight ~ Gripping
/ SPEC. i kgf / cm? (Mpa) g, o kgf (KN) /SPEC.  pysh sid Pull Sid ] T ki Range
(&/min) Push Side Pull Side us e u e (mm) (mm) kgf (KN) (kg)
L1020RE 0.8 40 (3.9) 84 79 3100 (30.4) MA-06 122 17 12 5.5 4500 (44) 24.8 025~0175
L1225RE 0.8 40 (3.9) 120 113 4500 (44.1) 4
L1530RE 0.8 40 (3.9) 174 160 6400 (62.7) MA-08 176 169 16 T 6400 (63) 41.3 830~0210
L2035RE 0.8 40 (3.9) 312 290 11700 (114.7) MA-10 254 241 19 8.8 9500 (93) 65.6 235~0250

21 22



PRI\t ZE (5§)
SHER T3S 8%

AR ChZe R S ARE A TF e EHYsS ~ SN0 Liaest -

1 SRELFS AR - TEMIER TIFRIBERERESR - Sl MEMENFHRIE
» ANEEFENFIE -

2 BHEETE : HT{FE LRSS TIF - BRI SEIERSEAZRIRAER
» RN E A S AEE -

3. ARTUHELRE - {EHEl SRR EIRIRIRNE - BAEEREGHIEE
M~ BFAIRIS ) - ERIREUHIRREHEERRES - ISR -

R = B >»Dimensions

MOT 2-JAW HOLLOW POWER CHUCK FIXTURES

PRI\t ZE (5§)
SHER = T\ ZE 8%

ARz B S AE AR TES ENYES ~ SN0 LTadst -

1SRRG FARRIE - EMER TIFRIBRENER - S AEMENFHRIE
» ANEEFENFIE -

2. FhEE%E « EITIFE LSS TIE « BRI TAlE RS EA SRR AER
 FERRBIEASREE -

3. AR IVHEL I ¢ ISl EEEREIREENE » FREERIESHIISE
14 ~ IBFHEREFTD - SERARELHIR IR EE VRS - IRt -

With built-in type cylinder, it is ideal for

o bediel, : R <t B > Dimensions
machining application on working table.

1.Rust-proof for Pneumatic Cylinder:

. 3-JAW HOLLOW POWER CHUCK FIXTURES

With built-in type cylinder, it is ideal for
machining application on working table.

1.Rust-proof for Pneumatic Cylinder:

R 2-N E
D Inside wall of cylinder being rustproof treated; s 18 5 |D Inside wall of cylinder being rustproof treated;
cylinder can work under wet or high moisture i - cylinder can work under wet or high moisture
circumstances without rusty or seized trouble. & o g | ) I circumstances without rusty or seized trouble.
2.Dusts-proof and Waterproof: ~ = T 2 2.Dusts-proof and Waterproof:
Dust-proof and Waterproof structure prevents Dust-proof and Waterproof structure prevents
work-chips and coolant water from entering into ) work-chips and coolant water from entering into
g inside of chuck cylinder to maintain its accuracy = inside of chuck cylinder to maintain its accuracy
and lead to longer service life. and lead to longer service life.
3.Benefit of Built-in Cylinder: 3.Benefit of Built-in Cylinder:
The cylinder is connected to chuck itself directly The cylinder is connected to chuck itself directly
for obtaining better stability, less space, and higher for obtaining better stability, less space, and higher
machining efficiency. machining efficiency.
& B2 @ {51 » Operation Example P& FA &8 51 > Operation Example
SRELDBRERETSTN / 1R REBUDRREERETTT / IR
Examples of Attaching Pneumatic Manual Examples of Attaching Pneumatic Manual
Switch / Optional Accessories Switch / Optional Accessories
NiEm EEF e R 4 FREFENL]ER NiEmEFENLD SRR ~ 4 EEFEL)IAR
Split type hand control valve Adherent type hand control valve Split type hand control valve Adherent type hand control valve
#2 #8% & > Specifications EEfII/UNIT:mm #7 % & » Specifications EE{i/UNIT:mm
BT IR BTl /3818
MODEL A B C D E F G H I J K L M N 0]} P R S MODEL A B C D E F G H I J K L M N O P R S
/ SPEC. / SPEC.
MOT-04 157 115 -- 15 77.5 104 26 495 14 10 23 13 @9 (PCD@135) PT1/8 M8x1.25P 2-M8x1.25P(PCD@90) 64 47 MO-04 157 115 - 15 775 104 26 495 14 10 23 13 @9 (PCDe135) PT1/8 M8x1.25P 3-M8x1.25P(PCDg90) 64 47
MOT-05 185135 - 15 95 128 33 62 14 10 25 13 @9 (PCDo165) PT1/4 M8x1.25P 2-M8x1.25P(PCD@100) 80 47 MO-05 185 135 -- 15 95 128 33 62 14 10 25 13 09 (PCDp165) PT1/4 M8x1.25P 3-M8x1.25P(PCD@100) 80 47
MO- ! - :
MOT-06 224 169 25 16 118 158 40 73 20 12 31 18 @11 (PCD@202) PT1/4 M10x1.5P 2-M8x1.25P(PCDe134) 80 47 e c24:160 25 16 118 158 4 7R 20 12 d1 1@ all(RODA20S) FAVE MIOKLEP 3MEX1OHRODEISY) S0 Wi
MO-08 265 210 30 20 138 180 42 95 25 14 35 18 o11 (PCD @243) PT1/4 M10x1.5P 3-M10x1.5P(PCDg136) 80 47
MOT-08 265 210 30 20 138 180 42 95 25 14 35 18 o11(PCD@243) PT1/4 M10x1.5P 2-M10x1.5P(PCDo136) 80 47 MO-10 315 254 52 23 150 196 46 110 30 16 40 18 213 (PCD 0285) PTi/4 M12x1.75P 3-M12x1.75P(PCD@170) 80 47
MOT-10 315 254 52 23 150 196 46 110 30 16 40 18 @13 (PCD 9285) PT1/4 M12x1.75P 2-M12x1.75P(PCDg170) 80 47 MO-12 375 304 80 23 165 219 54 129 30 21 50 18 @17 (PCD 2340) PT3/8 Mi6x2P 3-M12x1.75P(PCD@200) 80 55
4= =, ZEEAREF ) =32 - ZoEEFERF D
; - = miTig . BARTE it : — ISmEES g BARTE L
3 = v = E SEE y ] b -
EEEW GETR (gpo BAWERN  Gees;  GrbpingFoce g guege S SEER HEGE (gm BAWRED gy OrippingFore o g
RIS /1945 Q Ploon FAUNGET Jaw Stroke  Max.Gripping  yjay hygr,  AUArPressure yeign  Gripping MODE! Q P Fandor JawStoke MaxGripping gy g, AUAIPressUre  yygignt  Gripping
MODEL rea troke (Diameter) orce s : 7 kgficm? rea troke : Force : : 7 kgfiem?
Pressure (kg)  Range / SPEC 2 (Diameter) Pressure (kg)  Range
/ SPEC. (cm?) (mm) kgf (KN) 5 (0.7Mpa) 2 (cm?) (mm) kgf (KN) 2 (0.7Mpa)
(mm) gtlom? (Mpa) | ¢ o rran) kgtlem® (Mpa) ¢ (KN)
MOT-04 2 57 9 3.8 1900  (18.6) 12 (1.2) 1100 (10.8) 6.9 ©9~p115 MO-04 - 57 9 3.8 2400 (23.5) 15 (1.5) 1100 (10.8) 7.05 @9~0115
MOT-05 N 74 10 5.4 2620 (25.6) 16 (1.6) 1300 (12.7) 1.2 o12~0135 MO-05 - 74 10 5.4 3285 (32.2) 20 (2.0) 1300 (12.7) 1.2 212~8135
MO 08 oy -~ - — —— 18 LB 8000 " PON— MO-06 - 97 12 5.5 5040 (49.4) 20 (2.0) 2000 (19.6) 21.0 p15~2169
- : ) R (18:5) S iR MO-08  3-M10x1.5P(PCDg@186) 156 16 7.4 8100 (79.4) 20 (2.0) 3300 (32.3) 36.8 ©20~0210
MOT-08  2-M10x1.5P(PCDo186) 156 16 7.4 6480 (635 16  (1.6) 3300 (323) 368 020~9210 MO-10  3-M12x1.75P(PCD@230) 235 19 88 12210 (119.7) 20 (2.0) 4800 (47.0) 56.4 033~p254
MOT-10 2-M12x1.75P(PCD@230) 235 19 88 9760 (95.6) 16 (1.6) 4800 (47.0) 56.4 ©33~0254 MO-12 3-M12x1.75P(PCD@260) 292 23 10.6 14500 (142.1) 20 (2.0) 5100 (50.0) 88.5 ©40~0304

24



K'T 2-JAW SUPER PRECISION AIR CHUCK FIXTURES

PRI\ B IS 2 T\ A B SE A%

NEW L

1.JRECERILRTREEMEEEE : MRMERERI - BEENEERE
F-REREIINT : EffEEE#SEEEE » UHEHHEREES -

2. NEVSEL | SREIERSREREAGER ST - TRRIFRI R ZRIFRVIBEIE -

3EMIEEENL « REEMBEEMEEERRMDRERIFIENE

Ea

4 HEEAEEREHES LR - 2R TR EsE R EERREE OE

pil » A{LIRIE - WIRSMERGEEIIL -

R = B >»Dimensions

PT1/8

AESHBETE P K

MTK-04T &I

This product reaches the repeatability of " degree"

& FA &0 51 > Operation Example
SRELDIRRDERETSTN [/ PR

Examples of Attaching Pneumatic Manual Switch
/ Optional Accessories

iz RS- B LD Rg
Split type hand control valve

12.7

#2 #8% & > Specifications
e
%ﬂ%ﬁﬁﬁg A B (o] D d E
H7)
/ SPEC. (
MTK-04T 148 17 20.75 101.6 18 12.7
MTK-06T 200 18 39.75 152.4 26 12.7 12.7
B /RS
MODEL M1 M2 M3
/ SPEC.
MTK-04T 6-M5x0.8P(PCD 288.9) 4-M5x0.8P 6-03.18
MTK-06T 6-M6x1P(PCD 2135.89) 8-M5x0.8P 6-03.18
. MTE(EE)
BI/BE m TR Jaw Stroke EEREEE
MODEL Jaw T.I.R (Diameter) Repeatability
/ SPEC. (mm)
MTK-04T 0.001 3 0.001
MTK-06T 0.001 3 0.001

.

.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional
screw machining is not necessary, and pre-machined
lubrication path can connect to auto-lubrication unit to
lubricate the chuck automatically.

2.Built-in Cylinder:

Connect cylinder directly to the chuck for stable gripping.

3.Precise soft jaw positioning:
It's easy to remount soft jaw to the correct position
with dowel pins on it.

4.High gripping precision brings better quality and
efficiency.
Good coaxiality and repeatability of gripping are able
to achieve the accuracy of "y degree machining
processes can be simplified or shortened to make
high precision machining with high efficiency come
true.

EE{{I/UNIT:mm

H w L M

80 16 13 29 (PCD 2130)
81 22 18 211 (PCD @180)
N T1

3-M8x1.25P 2-M5x0.8P(PCD @70)
4-M10x1.5P 2-M6x1P(PCD 2110)
ZEEEA T T .
Gripping Force @i
At Air Pressure 7 kgf/cm? (0.7Mpa) Weight
kgf (KN) (kg)
310 (3.1) 6
790 (7.8) 12.6

1R e RS RIREEMEEEE - MBARER3 - BRNEERE
FFAARENNT : BEfREEE#EBEE » URE#HREREES -

2. REEVSHEL | SREISRAREREASERET - FERIFEIR IR ENE -

3EMEETEN « RAENBEEMNEEEHFRFDRSREBNENRE

Eo

4 HESEERFES TIENER - RFTHHRMEREEREHEETE

piR  FR{EIRIE » WIRSRERGEHITL -

R = B >»Dimensions

24
2
EE
------ B
B %gg
ollbs
:EEE
eelaris

i
=

ARESHBETE p &K

This product reaches the repeatability of "/ degree”

& FA &6 51 > Operation Example
SREUIRRBERETSTN [ TR

Examples of Attaching Pneumatic Manual Switch
/ Optional Accessories

#8 #8 & » Specifications
e
| A B c D .
/ SPEC. (H7)
MTK-04 148 17 20.75 101.6 18
MTK-06 200 18 39.75 152.4 26
B /RS
MODEL M1 M2 M3
/ SPEC.
MTK-04 6-M5x0.8P(PCD 88.9) 6-M5x0.8P 9-63.18
MTK-06 6-M6x1P(PCD ©135.89) 12-M5x0.8P 9-3.18
i MiTE(EE)
BT /1S T3 M TR Jaw Stroke
TEFPE% Jaw T.ILR (Diameter)
’ (mm)
MTK-04 - 0.001 3
MTK-06 3-M6x1P(PCD p135.89) 0.001 3

12.7

12.7

3-]AW SUPER PRECISION AIR CHUCK FIXTURES
NI\ BT =R EE LR

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional
screw machining is not necessary, and pre-machined
lubrication path can connect to auto-lubrication unit to
lubricate the chuck automatically.

2.Built-in Cylinder:
Connect cylinder directly to the chuck for stable gripping.

3.Precise soft jaw positioning:
It's easy to remount soft jaw to the correct position
with dowel pins on it.

4.High gripping precision brings better quality and
efficiency.
Good coaxiality and repeatability of gripping are able
to achieve the accuracy of "y degree machining
processes can be simplified or shortened to make
high precision machining with high efficiency come
true.

o\ 2 5 R S Y )0 .
Split type hand control valve
EE{iI/UNIT:mm
F H w 3 M
12.7 80 16 13 29 (PCD 8130)
12.7 81 22 18 @11 (PCD 2180)
N T1 T2
3-M8x1.25P 3-M5x0.8P(PCD 088.9) -
4-M10x1.5P 3-M6x1P(PCD 135.89) 3-M6x1P(PCD 110)
ERIFN B
EETREE Gripping Force \A}ei ht
Repeatability At Air Pressure 7 kgficm? (0.7Mpa) (kg)
kgf (KN) 9
0.001 310 (3.1) 6.2
0.001 790 (7.8) 13



TK 3-JAW SUPER PRECISION AIR CHUCK
=T EBSEE R B ZZER

e [

1.8 AL R AEEEEEEE | MRRETERSL - ERNEER
NAERBIINT - BREE8)NEEE - RESHHEBREIERS -

2 VS | SREIRAEREAEERET « ERIFEIRIGTANEENE

3 AMUSEEN « RBENIRELE/MTEEEIFRF DR RIFNELS
E o

4 EEEERGER TIEER « R THINEHERSERFEEOE

TK-T 2-JAW SUPER PRECISION AIR CHUCK
—MiBfE &K EE 5 EA

| NEW

1.EERILRREEEEEE | TMASRLRL  BENEERE
FAARBREINT - BEFREEEEEEE « UHEEMEREES -

2. WAL - SSEIERRERE G ET  TERIFEI R RETHVISENE -

3AMBEEN : REEMHREE MEESEHRINDRISERBNELS
E o

4 EEFEE RS TR - J Ty EsE R EE R E OE

27

pil - A{EIRIF - MIRSMERGEEI0L -

R = B > Dimensions

AESHBETE P&

This product reaches the repeatability of "y degree"

P& A3 &6 51 > Operation Example

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional
screw machining is not necessary, and pre-machined

piR - FREIRIE » WIRSRXRGWEBI0L -

R =F B > Dimensions

AESHBETE UK

This product reaches the repeatability of "y degree"
P& F3 &6 51 > Operation Example

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional
screw machining is not necessary, and pre-machined

M lubrication path can connect to auto-lubrication unit to lubrication path can connect to auto-lubrication unit to
S0t slldEnsL]l lubricate the chuck automatically. lubricate the chuck automatically.
-I—i T 2.Built-in Cylinder: F_ 2.Built-in Cylinder:
= S— g Connect cylinder directly to the chuck for stable gripping. —3 Connect cylinder directly to the chuck for stable gripping.
Lo X 3.Precise soft jaw positioning: ml‘g 3.Precise soft jaw positioning:
L _"'é i 18| 7 T1  It's easy to remount soft jaw to the correct position g It's easy to remount soft jaw to the correct position
o == with dowel pins on it. = with dowel pins on it.

E[ i | i i JL & 4.High gripping precision brings better quality and —-5- 4. High gripping precision brings better quality and

s & e efficiency. QE efficiency.

%g Axa Good coaxiality and repeatability of gripping are able a8 Good coaxiality and repeatability of gripping are able

B E 4 to achieve the accuracy of "u degree machining e to achieve the accuracy of "u degree machining

; % z . 5
%g /‘g = processes can be simplified or shortened to make Ex processes can be simplified or shortened to make
EZ M2 . high precision machining with high efficiency come high precision machining with high efficiency come
true. true.

*87 #8% 5= > Specifications BEfi/UNIT:-mm #7 18 = > Specifications EEfiT/UNIT:mm
1= 1=
Nooe A B c D E D1 d D2 H h 2 B & D E DI d D2 h w M1
/ SPEC. (H7) / SPEC. (H7)
TK-04T 20.75 12.7 12.7 101.6 30 82.55 18 25 70.3 3.2 TK-04 2075 127 127 1016 30 8255 18 25 703 32 16 6-M5x0.8P(PCD288.9)
TK-06T 39.75 12.7 12.7 152.4 40 124.97 26 345 70.3 3.2 TK-06 39.75 127 127 1524 40 12497 26 345 703 32 22 6-M6x1P(PCDa135.89)
TK-08T 65.75 25.4 o 203.2 45 167.64 50 50 99.5 7.0 TK-08 6575 254 - 2032 45 167.64 50 50 995 7.0 25 6-M10x1.5P(PCD2182.88)
BT /3RS RIS /4048
OOEL M1 M2 M3 w T JmT:li"lnh ke M2 M3 T T2 T3 R
/ SPEC aw Ll / SPEC
TK-04T 6-M5x0.8P(PCD 288.9) 4-M5x0.8P 6-03.18 16 2-M5x0.8P(PCD 270) 0.001 TK-04 6-M5x0.8P 9-23.18 3-M5x0.8P(PCD288.9) - 30°
TK-06T 6-M6x1P(PCD 135.89) 8-M5x0.8P 6-03.18 22 2-M6x1P(PCD 2110) 0.001 TK-06 12-M5x0.8P 9-03.18 3-M6x1P(PCD@135.89) 3-M6x1P(PCDa110) 8-M6x1P(PCD@135.89) 30°
TK-08T 6-M10x1.5P(PCD 2182.88) 4-M10x1.5P 4-06.36 25 2-M8x1.25P(PCD 150) 0.001 TK-08 6-M10x1.5P 6-06.36 3-M8x1.25P(PCDo182.88) 3-M8x1.25P(PCDa150) 3-M8x1.25P(PCD@100) 30°
B /4RAR T2 ED 518 G?J%?é%gsce iR RE B /4948 MTLR. TR (EE) EER ZEE3ERF/] Gripping Force B TR PE
MODEL Jaw Stroke BEFFHEE At Air P{essu?’g 7gk flom?(0.7Mpa) Max.Speed Weight MODEL R2 R3 Jaw Jaw Stroke FRE At Air Pressure 7kgf/cm?(0.7Mpa) Max.Speed Weight
/SPEC. [Diameter](mm) Repeatability kaf e v r.p.m (min”) (kg) / SPEC. TLR.  [Diameter] (nm) Repeatability kgf (KN) r.p.m(min") (kg)
TK-04T 3 0.001 310 (3.1) 3500 42 TK-04 e - 0.001 3 0.001 310 (3.1) 4500 4.4
TK-06T 3 0.001 790 (7.8) 3500 9.5 TK-06 30° 75 0.001 3 0.001 790 (7.8) 4500 9.8
TK-08T 3 0.001 1450 (14.3) 3000 25.1 TK-08 30°  30° 0.001 3 0.001 1450 (14.3) 4000 26.3



4
I3 Ak reep TUBE
palL i) bt

R =F B > Dimensions

(115) & = (10mmEE i1 ) Tube Length ( Unit: 10mm)

3

FlUl£E 500mm BFHEED 50 -
Ex. Fill in 50 for required length of 500mm.

—————— TF

5/8"-32 UNF

#R #% & > Specifications EE{VI/UNIT:mm
=t s st

oo REDEE HREBH
/ SPEC. Max.Speed Recommended Lubricant

TB-XX-18 8000min-' VGBEEFHsH VG6 or Equal

TB AIR FEED TUBE ( FOR GRINDING MACHINES )

KRB OES 23
(GEIKBY)

R = B > Dimensions

91 & R (10mmE{iT) Tube Length(Unit:10mm) 18
0.5 10
i+ —— e —— %t—-—-—-—+-E[E:%
2 2o = /
& i W 5/8"-32 UNF
—— % Fl0ESE 500mm BFHEEE 50 -
{@8iniel) Ex. Fill in 50 for required length of 500mm.
#7 18 & > Specifications E{i/UNIT:mm
i} e, = s
S ha SEEE HEEED
/ SPEC. Max.Speed Recommended Lubricant
TBC-XX-18 8000min-' VGeEEHEH VG or Equal

SEFSER

AD ' MOUNTING PLATES

N

ADP-04,06,08
R =F B > Dimensions
H
ADP-04,06,08 Ho_ i ADP-104,106
n2 hi
(T
3 & g e 5 §
5/8"-32UNF _ 5/8"-32UNF |
#R ¥8 28 » Specifications ES{i[/UNIT:mm
y
1,\,%{,%_@ D DI D2 di Pi H Hi H2 h1 h2 M1 M2 M3
/ SPEC. (h7) (H7)
ADP-04 101.6 8255 24 8255 25 38 14 24 32 25 6-M5x0.8P (PCD @88.9)  12-M5x0.8P (PCD 088.9)  3-03 (PCD 088.9)
ADP-06 152.4 124.97 24 12497 345 38 14 24 32 25 6-M6x1P (PCD @135.89) 12-M6x1P (PCD 2135.89) 3-23 (PCD 2135.89)
ADP-08 203.2 167.64 30 167.64 50 54 25 29 7.0 5.0 6-M10x1.5P (PCD @182.88) 6-M10x1.5P (PCD 0182.88) 3-g4 (PCD 2182.88)
ADP-104 101.6 8255 24 8255 25 48 24 24 32 25 6-M5x0.8P (PCD @88.9)  12-M5x0.8P (PCD 088.9)  3-03 (PCD 088.9)
ADP-106 152.4 124.97 24 12497 345 48 24 24 3.2 25 6-M6x1P (PCD 2135.89) 12-M6x1P (PCD 2135.89) 3-23 (PCD 2135.89)

pick e el
£/M

EW

R = B > Dimensions

SOFT JAWS FOR SUPER PRECISION CHUCKS
o o

. R -
- P - -

B{/UNIT:mm

J-04
2-95.5 2_:;{
2- BRI, goxial

38 107
(38 heightened)
26 {E

(26 standard)
7
%

J-08

75 %
(75 heightened)
50
(50 standard)

10

6]
2T

i

=

I

= —

115.__.25.1|. 65
21531, 06.37x6L.
e :‘ o -—




MTB AIR FEED TUBE

KB EEE S

R = B > Dimensions BEGT/UNIT:mm

2-P4 OEER 3.2 RF,
i 3.2 Location Hole

PCD o61

FORMING RINGS ( FOR SOFT JAWS OF SUPER PRECISION AIR CHUCKS )

#8 #8 & » Specifications

BT [ARAS
MODEL A B (] D
{ SPEC.

FR-04 112 80 22 30
FR-06 167 130 30 30
FR-08 203 160 54 35

[+ 2> I e ] m

E{/UNIT:mm
L $E
Weight (Kg)
3-M8x1.25P 1.9
3-M10x1.5P 4.3
3-M10x1.5P 72

MR 3-JAW AIR CHUCK
=/MsABEIEEH

JR = B > Dimensions

30

AR\
Y

’ -ﬁn
3-M8x1.25P B

‘ PCD 2104

T

(0]

F

<3 = B2 {65 F §0 {51l > Operation Example for rotary table

#8 #& 5= > Specifications
BT /ARAE
MODEL A B C D
/ SPEC.
MR-04 117 60 20 3.5
=t e MiTIEEE
B3 /1848 HETE Jaw SEtroke
I}ﬂéJIEE% Plunger Stroke ( Diameter )
= (mm) mm
MR-04 9 3.8

ZeEFEHF /] Gripping Force
At Air Pressure 7 kgf/cm?(0.7Mpa)

L55E

L Detail Drawing

CNCEE B {85 F3 @ {51 > Operation Example for CNC Lathe

E{/UNIT:mm
ESEHRA
I . = Piston Area (cm?)

14 10 23 57
SRDER REFFEE PE
Max.Speed Gripping Weight
r.p.m (min") Range (kg)

3000 210~g117 57



RT ROTARY AIR CHUCK FIXTURES
ST = 5 R e A pa -

EREIHINITEMA Suitable for light cutting .

OE R EIARE A D . - RoIhEs IR INEE - 8171385500
TiFEEDSISIEEELIH] -

1. REPFEE - EER T FERIERENER » [ERSPIERFHERE -

MR- 3-JAW AIR CHUCK BUILT-IN 2 CYLINDERS
BRI =/NEEEIEEE

AELEFBEHFE -
2 [GEEEE - TIFPovEE R IEIR R ZEARBASIVEE » FERICER
BUERSMRARERE -
S.RIEIVRL : SRl IEIREREFEERET - TERITIIBENE - EI5ERIAR
T i8R{E ©
R I B > Dimensions R = B > Dimensions It's Ideal for dividing or cutting work pieces by
mounting the chuck on indexing table or rotary

E D 2.PT1/4-19 table. The distinctive feature is that the chuck
S rotates with the spindle of indexing table or
rotary table.

1.Rustproof treated cylinder:

g
% E ,
. M The cylinder won't get rusty and seized even in wet
30 . | 30" L | / "1| 1 or high moisture working environment.
Wl i < L i Q d = 2.Dust and water proof cover:
P i \ | | ' T Prevent metal chips or coolant from entering inside
30" 30° JJ - L. i L of chuck cylinder to maintain its accuracy and lead
T H | - 4 mae AMlE to longer service life.
Tl 8 T2 3.Integral pneumatic cylinder:
3'“’2{5* f 15 Connect chuck and built-in cylinder to each other
‘ J ‘ G M8*1.25P directly; thus enables operation stability.
o LB -G | B | Moreover, it is more convenient for installation and
K - L Detail Drawing operation since the use of draw tube and draw bar
are no longer necessary.
43 £ B2 {85 FE 8B 51 > Operation Example for rotary table = CNCES [ {86 F3 #i 51l > Operation Example for CNC Lathe {85 F3 §i 51l > Operation Example )
i
#R & 5= > Specifications E{I/UNIT:mm
g
/SPEC. A B C D E F G H | J K L
RT-05 136 85 16 60 6 180 33 62 14 10 25 6-M8x1.25P
RT-06 166 93 20 80 7 210 40 73 20 12 31 6-M8x1.25P
RT-08 215 112 30 110 8 250 42 95 25 14 35 6-M10x1.5P
RT-10 255 120 43 140 8 290 46 110 30 16 40 6-M10x1.5P
RT-05T 136 85 16 60 6 180 33 62 14 10 25 6-M8x1.25P
RT-06T 166 93 20 80 V£ 210 40 73 20 12 3 6-M8x1.25P
75 18 3= » Specifications EET/UNIT:mm , BILEE . TR (A&
Bzt /1518 Thé-Hole EREE (T e Siits
I SPEC. M P (Diameter) Pls(tgrnl_lfu)raa Plunger Stroke ( Diameter )
A — (mm) i) mm
MODEL A B C D E F G H | 2 K Pis h::n Areaﬁ 5 RT-05 o118 27 16 74 10 46
/ SPEC. (o)
RT-06 0147 27 20 120 13 5.5
RT-08 2185 28 30 190 16 6.8
RT-10 2220 30.5 43 280 19 8.0
7 RT-05T 2118 27 16 74 10 4.6
MR-04S5 117 60 20 3.5 99.7 126.4 26.7 49.5 14 10 23 114 RT-06T 0147 27 20 120 13 55
| S AR N .
%igggﬁ R BADEE) Gripping Force RSO R
) ~ MiTEEE o . i o ax.opee ax.-ressure At Air Pressure 7kgf/cm? (0.7Mpa) ripping elg
%iggglﬁ E(TE et Emk& ZBEENEHS 7] Gripping Force BE D% Bgﬁﬁﬁl@ BE /SPEC.  rp.m.(min") kgflem?  (Mpa) kgf (KN) Range (kg)
i At Air P 7 kgflem?(0.7M Max. d rippin Weight
s P’”"{El;rrf‘)mke ( Diameter ) . gt Cm“{(m Pa) r»:ﬁg‘fﬁ,) ey p RT-05 51 7 0.7) 1340 (13.1) 04-0136 9.3
mm RT-06 41 7 (0.7) 2330 (22.8) 025-0166 15.5
RT-08 33 7 (0.7) 3730 (36.5) 033-0215 28.5
RT-10 26 T (0.7) 5480 (563.7) 043-p255 42.3
MR-04S 9 3.8 2200 (21.6) 4500 210~2117 7.2 RT-05T 51 7 (0.7) 1340 (13.1) 04-0136 9.0
RT-06T 4 4 (0.7) 2330 (22.8) 025-0166 15.0



BAR STOPPER
f=RHE

R Y B » Dimensions

E=FE SHIIERER T
Dimension E: Join to inside diameter of drawtube.

#5 % & > Specifications B3 67/UNIT:-mm
BIS/1RKE BitE=OEE BT ERTEHEMAS Bt /hEER
MODEL A B C D F G H Max. Speed Stroke Matching Cylinder Of Matching Cylinder Of
/ SPEC. r.p.m.(min") CHANDOX KITAGAWA
PE-06 76 64 910 @24 W1"12 9 6-M6x1Px55 3000 350 P1246 S1246
PE-08 85 73 1010 @24 W1"12 9 6-M6x1Px65 2400 400 P1552 51552
PE-10 108 98 1310 @24 W1"12 9 6-M6x1Px65 2000 400 P1875 51875
PE-12 120 108 1310 @32 M33x2P 9 6-M6x1Px70 1600 400 P2091 52091
PE-15 160 148 1310 @32 M33x2P 13 6-M6x1Px75 1200 400 P2511 -

WiAgar puiiers FoR ONC LATHES
CNCERHNI¥IZE

HIRIESEAICNCEREBITSEA#IE L - o ECEEER

B - BEHRIRERERE - S88 b2 UEFISE -

fEEFAEREA :

1. EMEASEEALET{#/)'3~5mm.

2. TiHFFRERMEEEZR16mm.

3. R1 &8 [Eo12~026.

4. R2 R Ee27~046. EE{iI/UNIT:mm

S T

R < B > Dimensions R1 R2

Bar Puller is great for installing on the turret of CNC
Lathes or other Automatic special purpose machines
to substitute for automatic bar feeder. For the
repetitive pulling length is very accurate; the use of
Bar Puller is a very convenient and effective
alternative for automatic machines.
Application: 1. The opening of bar puller shall be
3~5mm less than the diameter of

@T_[ work piece.
[ 2. The gripping length has to be more

than 16mm from chuck surface.
3. R1 Gripping range: e12~26mm.
4. R2 Gripping range: @27~@46mm.

SHERZE M

R = B > Dimensions

52

_E}—S
_r_

#7 ¥% & » Specifications
e
jspgc, S1 S2 83

SJ-04 49.5 23 23

SJ-05 62 25 30
SJ-06 73 31 36
SJ-08 95 35 38
SJ-10 110 40 42
SJ-12 129 50 50
SJ-15 165 62 62
SJ-18 165 62 62
SJ-21 180 65 70
SJ-24 180 65 70

A HBREMN

(N0 ~ N0& ~ DOE)

S-4

10
10
12
14
16

21(18)

22(25.5)

22(25.5)
25
25

é

b

e

60" <

Pitch 1.5 B8 E
S-5 S-6
45 10
45 10
5 15
5 24
5 30
6 39
8(5) 37
8(5) 37
9 40
9 40

El

14
14
20
25
30
30
43
43
60
60

o
% [P
\v/ g o
— o
60°
Pitch 3.0 B8EVE+ B
IEEEIRENEE
S-8 S9 Serration Pitch
25.5 M8x1.25P 1.5x60°
38 M8x1.25P 1.5 x60°
38 M10x1.5P 1.5 x60°
46 M12x1.75P 1.5 x 60°
50 M12x1.75P 1.5 x60°
60 M16x2P (M14x2P) 1.5x60°
85 M20x2.5P 1.5x 60°
85 M20x2.5P 1.5 x60°
80 M20x2.5P 3.0x60°
80 M20x2.5P 3.0x60°

\.SO.F.T JAWS (S)-SERIES) FOR HYDRAULIC CHUCKS

.&BECIAI_ SOFT JAWS FOR HYDRAULIC CHUCKS

EE{iI/UNIT:mm

RE
Weight (kg)
0.42
0.85
15
24
3.6
6.1
12,5
12,5
16.2
16.2




FHEREE/T

R 18 5% » Specifications
RIS /124G
MODEL  H-1 H-2 H-3
/ SPEC.
HJ-04 63 23 28
HJ-05 53 23 28
HJ-06 67 31 36
HJ-08 87 35 51
HJ-10 101 40 54
HJ-12 108 50 67
HJ-15 143 62 86
HJ-18 143 62 86
HJ21 1595 80 90
HJ-24 1595 80 90

H-4

10
10
12
14
16

21(18)

22(25.5)

22(25.5)
25
25

\Hz |17
H-1
H-8 H-6
2

H-5 H6 H-7
4 29 14
4 29 14
5 39 20
5 295 25
5 455 30
45) 49 30
8(5) 55 43
8(5) 55 43
9 975 50
9 975 50

H-8

24
24
28
18
18
20
38
38
62
62

B 2
FIG. 2

H-9

10
10
12
12
13
16
20
20
40
40

RD JAWS (HJ-SERIES) FOR HYDRAULIC CHUCKS

» SERIRRE  TEEGRIIEEEAER -
+ " Chandox " mounting plates are available to any kinds of

H-10

M8x1.25P
M8x1.25P
M10x1.5P
M12x1.75P
M12x1.75P
M16x2P
M20x2.5P
M20x2.5P
M20x2.5P
M20x2.5P

),SOFT JAWS FOR PULL BACK POWER CHUCKS

RAIVREAEAT/N s

R < B8 > Dimensions

B. 1
FIG. 1

NEW

MODEL
/ SPEC.

S-06
S-08
S-10
S-12

37

o
D E F G
- 10 10 M14x2P
26 12 16 M12x1.75P
32 15 18 M14x2P
36 17 20 M1i6x2P

H

43
53
62
78

SEESIAENEE PE
Serration Pitch Weight (kg)
1.5 x60° 0.4
1.5 x 60’ 0.4
1.5 x 60° 0.95
1.5 x60° 1.9
1.5 x 60’ 28
1.5x 60° 3.5
1.5 x60° 9.5
1.5 x 60’ 9.5
3x60° 15.3
3x60° 15.3

spindle noses.
R i > Dimensions
E _E.. =
E{/UNIT:mm
£EE

Reference Drawing

Fig.2
Fig.2
Fig.2
Fig.1
Fig.1
Fig.1
Fig.1
Fig.1
Fig.2
Fig.2

eH
oD
] —
oA
eH
aD
H——~ll
aH2
A
aH
aD

-1 Fig.1 -2 Fig.2 [E-3 Fig.3

J K

23 3.0
20 3.5
23 3.5
26 3.5

3.0
3.5
3.5
3.5

21
29
32
36

15.5
13.5
15.5
17.5

w— B3\ /7848 BimER
MODEL Nose of Spindle A H
/ SPEC. D

TOO5A:24 A:4 110 82.6
TO0BA:5 A:5 140 104.8
TO0BA:6 A:6 170 133.4
TO10A:8 A:8 220 171.4
TO12A:8 A:8 220 171.4
TO15A:11 A:11 300 235
TO18A:11 Az11 300 235
T021A:=15 A:15 380 300.2
T024A:20 A=20 520 463.6

B g BinER

MODEL Nose of Spindle A H
/ SPEC. D

TO05A:5 A:5 110 104.8
TO0BA:4 Az4 140 82.6
TO06A:6 A:6 140 133.4
T008A:8 A:8 170 171.4
TO08A:5 A5 170 104.8
TO10A:6 A:6 220 133.4
TO12A:6 A:6 220 133.4
SR U/UNIT:mm To12A:11 A1 220 235
2zE TO15A.8 A:8 300 1714
Reference Drawing TO18A.8 A-8 300 171.4
&1 fig.1 T021A:11 A:11 380 235
B2 fig2 T024A11 A:11 520 235
g I:gg TO24A15 A5 520 3302

£

H2

826
104.8
104.8
133.4
133.4
171.4
171.4
171.4

235

235
330.2
463.6
463.6

20
15
17
18
18
22
22
27
27

20
40
45
23
28
28
54
33
33
M

42

B fI/UNIT:mm
E=]
Reference Drawing
-1 fig.1
&-1 fig.1
&-1 fig.1
&-1 fig.1
&-1 fig.1
-1 fig.1
&-1 fig.1
&-1 fig.1
E-1 fig.1
2£3
Reference Drawing
&-3 fig.3
E-2 fig.2
&-3 fig.3
E-3 fig.3
B-2 fig.2
B-2 fig.2
B-2 fig.2
fig.3
fig.2
fig.2
fig.2
fig.2
fig.2




3-]AW SCROLL CHUCKS
BB = T\3&EH

R = B > Dimensions

AUSLE B3
Front Mounting Rear Mounting J,_G
B I
T
s I KEE
Lll:t \LE
#7 8 = > Specifications EEf/UNIT:mm
RIS /1848 Eai0iEE E#EsEE Max. Gripping Diameter BE
MODEL A B C D E F G H J K L MaxSpeed HNEIEIR PIFEEIE Weight
/ SPEC. rp.m.(min')  O.D.Clamping I.D.Clamping (ka)
SC-03 85 45 60 73 16 3.5 3-M6x1P 3 M1 15 7 2500 282-870 024-p64 15
SC-04 112 58 80 95 24 45 3-M8x1.25P 42 14 17 8 2500 83-090 032-084 3.3
SC-05 132 60 100 1156 32 45 3-M8x1.25P 50 16 20 8 2500 23-2110 835-100 4.6
SC-06 167 66 130 147 45 5 3-M10x1.5P 65 19 23 10 2000 o4-0160 248-6150 7.9
SC-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-180 856-170 12.0
SC-08 203 76 160 176 58 5 3-M10x15P 75 22 28 11 2000 @4-0180 @56-8170 13.3
SC-09 233 84 190 210 70 55 3-Mi12x1.75P 85 24 345 12 2000 05-0220 262-6210 19.3
SC-10 273 86 230 250 B89 55 3-Mi12x1.75P 98 28 39 12 1800 06-2260 870-2250 26.2
SC-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 210-300 886-2290 37.6
SC-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 214-9400 2100-2380 80.7
FERY7T\ZREE
R 3 B > Dimensions
IE i &3 a3
Front Mounting Rear Mounting /Q
L
B
#3 8 F= > Specifications Ef/UNIT:mm
BITL/IRAE =E0iEiE JEE%EE Max. Gripping Diameter  JRE
MODEL A B C D E F G H J K L Max.Speed FLBImE Weight
J"SPEC r.p.m.(mm"} O,D.Clamping (kg
AS-04 112 58 80 95 32 45 3-M8x1.25P 45 14 46 8 1200 02-832 3.8
AS-06 167 65 130 147 60 5.0 3-MI1Ox1.5P 66 19 43 10 1200 23-860 8.2

4-JAW SCROLL CHUCKS
SEEEHBYPO T\ ZREE

R = B > Dimensions

#3158 .
Rear Mounting o

=

BUSLE
Front Mounting

- A2 S
F
e
#7 #% & > Specifications EEfi/UNIT:mm
B /RS ReDEE {Oi2EIE Max. Gripping Diameter  J$E
MODEL A B c D E F G H J K L MaxSpeed IR PO EE Weight
/ SPEC. rp.m.(min') O.D.Clamping  I.D.Clamping  (Kg)
PS-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 24-0180 856-170 124
PS-09 233 84 190 210 70 5.5 3-M12x1.75P 85 24 345 12 2000 ©5-0220 262-9210 19.4
PS-12 310 96 260 285 105 7 3-Mi12x1.75P 110 30 45 14 1800 210-2300 086-8290 38.1
PS-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 214-g400 2100-2380 82.4
. —
$HEHY/\JT\ZZ 88
R ¥ B> Dimensions
B
N
B
= =
#5 ¥8 3= > Specifications EEI/UNIT:mm
Eil Gk o BEOiEE DEFEE Max. Gripping Diameter BE
MODEL A B C D E F G H J K L Max.Speed PAREE it Weight
/ SPEC. r.p.m.(min") 0.D.Clamping (kg)
AE-09 233 84 190 210 100 55 4-M12x1.75P 85 24 60 12 1000 e7-0100 21




41

56 70 B = )T\ 328

R = B> Dimensions

S K 3-JAW POWERFUL TYPE SCROLL CHUCKS

AUFLE &3, 8
Front Mounting Rear Mounting ,§
S—— Fje €=
o=
D:%—'_—' il K ol al<
i | 8 &l §
e
#7 ¥ & » Specifications & /UNIT:mm
AT 3RS EEDjEE EEE Max. Gripping Diameter BE
MODEL A B C D E F G H J L Max.Speed NAEIE IR PO imiE Weight
/ SPEC. r.p.m.(min")  ©O.D.Clamping I.D.Clamping (kg
SK-04 112 58 80 95 24 45 3-MBx1.25P 47 19 315 8 2500 23-2100 035-p93 3.45
SK-05 132 60 100 115 32 45 3-M8x1.25P 57 24 36 8 2500 @3-0123 243-g122 5.0
SK-06 167 66 130 147 45 5 3-M10x1.5P 68 26 39 10 2000 28-0160 ©55-6150 8.6
SK-07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 862-6170 12.8
SK-08 203 76 160 176 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 262-6170 14.1
SK-09 233 84 190 210 70 55 3-M12x1.75P 93 32 50 12 2000 211-2220 270-6210 20.4
SK-10 273 86 230 250 89 55 3-Mi12x1.75P 102 32 545 12 1800 212-6260 280-8250 26.7
SK-12 310 96 260 285 105 7 3-Mi2x1.75P 118 40 56 14 1800 215-8300 290-6290 39.3
SK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 ©30-2400 2110-0380 82.3
B IS8 = )T\ 3258
R =t B >» Dimensions |
\
B
#7 & 3= > Specifications EE{I/UNIT:mm
iha {( ﬁ@ LROEE Max.G r?igg%:%'%liameter @?ﬁ
MODEL C D ] F G H | J KL P M N Max-sp‘?ed HEEIDIE AEiEE Weight
/ SPEC. r.p.m.(min") 0.D. 1.D. (kg)
Clamping Clamping
A15-08" 200 83 33.5 @619 40 ©104.8 3-M10x1.5P 82 82563 28 43 11 14.29 516.3 7.3 2000 08-0180 ©62-9170 17.4
A16-08" 200 83 33.5 0826 56 ©133.4 3-M12x1.75P 82 106.375 28 43 11 15.88 819.3 7.5 2000 08-0180 ©62-g170 18
A16-10" 255 91.5 36.5 9826 56 ©133.4 3-M12x1.75P 93 106.375 32 50 12 15.88 ©19.3 7.5 1800 211-0240 270-230 30.6

PS 4-]AW POWERFUL TYPE SCROLL CHUCKS
560 70 58 Eh BY PO T\ 3R EH

R = 8@ » Dimensions

(IRl #3,8

Front Mounting Rear Mounting /G

=y *‘:t:aﬂtz’

________________ FHIE

- i K :

T 15
#8 8 5% > Specifications BSiI/UNIT:mm
AT /4945 EeOEiE BIESEE Max. Gripping Diameter  3E
MODEL (o D E E G H Jd K L Max.Speed MEIEE MR Weight
/ SPEC. r.p.m.(min') ©O.D.Clamping 1.D.Clamping (kg)
PSK-07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 1 2000 28-0180 062-0170 12.7
PSK-09 233 84 190 210 70 55 3-Mi2x1.75P 93 32 50 12 2000 o11-0220 270-2210 20.8
PSK-12 310 96 260 285 105 7 3-Mi2x1.75P 118 40 56 14 1800 @15-300 ©90-2290 43
PSK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 @30-2400 2110-380 86.7
BEiE8 = I\Z288
R = B > Dimensions
B
ﬂH j=="
I
¢ s
7°7'30"

#57 1% = > Specifications E{/UNIT:mm
AU /1845 meUiEE EiEEEE Max. Gripping Diameter
MODEL A B (o] D E F G H J K L Max.Speed SLEEmR HITEIEE
/ SPEC. r.p.m.(min')  O.D.Clamping 1.D.Clamping
D+5-08" 200 83 82.563 15 46 19 1048 82 28 43 11 2000 28-0180 862-0170
D16-08" 200 83 106.375 16 58 222 1334 82 28 43 11 2000 08-0180 262-8170
D16-10" 255 94 106.375 16 76 222 1334 93 32 50 12 1800 211-6240 ©70-2230
D18-10" 255 94 139.719 18 76 254 1714 93 32 50 12 1800 211-0240 ©70-8230
D18-12" 310 105 139.719 18 103 254 1714 118 40 56 14 1800 215-8300 290-2290

42



5 ) AETE BY I B8

1. iEFFIBBEMN30°E » HEdRR(EEEF -
2 SEEUESET » ORI T 2BFRE -
3 MNMEMOIKERET - KENES -

4 SRAIBIRGETI AL -

R = B > Dimensions

N B K POWERFUL TYPE SUPER THIN CHUCKS

1.The handle with an angle of 30 degrees is much

convenient for operations.

2.The "super thin thickness" design of chucks
increase the "allowable distance" of machining
operations.

3.Chuck flange makes loading and unloading
operations simpler and more convenient.

4.Hard jaws and Soft jaws can be used

alternatively.

B2 C
18 130
20 155
20 190
22 250
H J
68 26
82 28
93 32
118 40

IEiEEsE

Max.Gripping Diameter

=
T ]
3 K44 H Q93
1le
e
#8 ¥ & » Specifications
BT /RS
MODEL Al A2 B1
/ SPEC.
NBK-06 220 170 58
NBK-08 270 210 65
NBK-10 315 255 73
NBK-12 370 305 80
R /4R
MODEL E F G
/ SPEC.
NBK-06 45 6 3-M10x1.5P
NBK-08 60 6 3-M10x1.5P
NBK-10 80 6 3-M12x1.75P
NBK-12 105 5 3-M12x1.75P
BRI /RS
MODEL i: M NEIEE
/ SPEC. 0.D.Clamping
(mm)
NBK-06 10 13 28~0160
NBK-08 1 13 211~8200
NBK-10 12 16 212~8250
NBK-12 14 18 215~8300

H{EIBIE
I.D.Clamping
(mm)
248~0150
262~2190
@72~0240

286~0280

147
172
210
285

43
52
59

FE
Weight
(kg)

10.6
181
27.9
42.9

Tmm

SR EE AR

SUPER THIN SQUARE CHUCKS

1.MC 2R EITAEST : (EAFERRAS7SEIER W, X,Y,Z Z35

ZEEAER0.05mmELA -

2. MCHRIBID T T {ERARBEIRZ 00T » AR K=

JBE - B~ TOfE -

SIEMERIRZEEAZE0.02mm BIA -

4 fEFITIRIER - BTREFZITAZER0.06mmEAA °

R =F B > Dimensions

{5 FA &0 {51l > Operation Example

#8 #2 5% > Specifications
BT RS
MODEL A B C
/ SPEC.
MC-06 215 57 18
MC-08 250 65 20
MC-10 310 72 22
MC-12 380 85 25
B /iR
MODEL N =
/ SPEC.
MC-06 165 144
MC-08 200 174
MC-10 250 218
MC-12 310 274

130
160
200
260

165
200
250
310

40
55
70
100

66
83
104
135

1.MC chucks are precisely ground, the tolerances
of W,X,Y,Z among chucks are within 0.05mm.

2.Soft jaws can be used alternatively for machining
special shaped work pieces, to substitute for
designing and making a lot of jigs for this
purpose.

3.The repetitive gripping accuracy with the hard
jaws are within 0.02mm.

4 _Parallel gripping accuracy with hard jaws can be
controlled within 0.05mm after aligning sides of
chucks.

TORIREREE W, X, Y, Z BEHET
v
——
X E—
8] 1% x| %
N : : q
| T |
G H J K L M
4-M10x1.5P 68 26 39 14 144
4-M12x1.75P 82 28 43 17 174
4-M14x2P 93 32 50 21 218
4-M16x2P 118 40 56 23 274
EEE
Max.Gripping Diameter j%j?;
S NEIEIE R{EEE Weight
0.D.Clamping I.D.Clamping (kg)
(mm) (mm)
18 24-0128 255-0128 1.4
18 25-0162 062-p162 18.6
18 26-2200 @72-8200 31.6
22 ©10-8265 ©90-0265 56.6



SUPER THIN CHUCKS
HEE R I AR

1.88 ~ 58 ~ F5/\BUERET » EAR T HHERIZER -
2. EEEEheaE - BIRERRTFeETY -

3. HNRASES - TAIERLE -
4. & MIERZRFFMARET » BRIE/SE -
5.2"B/ )\ T{F28550.8mm °

R B > Dimensions

#R % 38 > Specifications
B 1R
MODEL A
/ SPEC.
SE-02 63
SE-03 85
SE-04 110
SE-05 130
SE-06 160
R RS
MODEL G
/ SPEC.
SE-02 4-M5x0.8P
SE-03 4-M6éx1P
SE-04 4-M6x1P
SE-05 4-M8x1.25P
SE-06 4-M10x1.5P
RIS /1RAS
MODEL M
{ SPEC.
SE-02 26
SE-03 32
SE-04 40
SE-05 49

SE-06

70

=

5 ;.r - q ¢
&
eI ]
= MRS
K B
B C
28 118
37 143
39 168
45 202
52 248
H J
27 8
35 11
42 14
50 16
65 19
IEETGE
MR Max.Gripping Diameter
0.D.Clamping
(mm)
20.8~063
o1~p81
21~6100
21.5~116
21.5~6160

1.By the compactness comes from " Light, Thin,
Short, Small " designing concept; the chucks
are most fitting to hold work pieces for
measuring.

2.Just rotate the chuck knob directly for gripping
and loosening, A handle is not necessary to be
used.

3.Chuck body is made of very durable steel.

4.Jaws can be reversibly used; gripping of
various sizes becomes much convenient.

5.2" chucks can even grip up to the smallest size
of 0.8mm.

EE{iJ/UNIT:mm

D E 2
100 16 4
116 20 4
140 26 5
168 32 6
208 50 8
K L
13 8

15 10.5

19 10

21 1.5

26 15

_ PE

AiEiRE Weight
1.D.Clamping (kg)
(mm)

223~58 1.2
231~070 29
236~090 43
043~0106 6.2
052~0148 1A

BE I\ _JT\SHRZZEH

1. BT ISR HEE A /TR BYEE -
2. MU THIR AT - DI TIHEEE -
3.4 MR MEACNCEASHEE TR -

4 SRS SR

5. SR FHIDBYRIEIRES -

R = B > Dimensions

2-]AW STEEL BODY CHUCKS

FZEts - MEEER - ERSoR -

==

0

455 o BE &= B 735 8% B8 > Illustrate

1.Can be used as a "Forming plate" for machining
soft jaws.

2.Hard jaws and soft jaws can be adjusted just like
on a power Chuck to increase the gripping range.

3.Hard jaws as well as Soft jaws are
interchangeable with those of power chucks.

4.Chuck Body is made of steel to enhance safety
operations for high speed machining.

5.The Chuck Handle can be operated easily and
smoothly.

SIS REHER A T A A a8

MYF Ol E R 0K 5
L {EaE

T B e R PR B T AR

£E T\ EE TR AR AE T EEASRR

The chuck can be used as a
"Forming plate" for machining
soft jaws.

Top jaws can be adjusted
back and forth easily, thus
increasing gripping range.

Hard jaws are interchangable
with those of power chucks.

Optional accessory:
Mounting plate.

Soft jaws are interchangeable
with those of power chucks.

#3 1& = > Specifications B8 i7/UNIT:mm
BT\ /1848
MODEL A B C D E F H J K L
/ SPEC.
TNT-07 193 78 155 172 58 5 3-M10x1.5P 73 3 38 11
TNT-09 233 85 190 210 70 5.5 3-M12x1.75P 95 35 40 12
EEEEE
%%Eig{ﬁ %ﬁgﬁ Max.Gripping Diameter .
M R : i i Weight
I SPEC Speed NEIEE REIEE klg
; - 0.D.Clamping 1.D.Clamping (kg)
p.m.(min"") (mm) (mm)
TNT-07 20 12 3200 28~p235 066~2235 14.4
TNT-09 25 14 2800 211~p280 ©85~p280 22.3



47

B I\, = /T\ S =% 2800

1. A VISEEHEE T AR -
2. TUSTRIRIEREREE - DIARF LIFEE -

3.2 MU B8 T ERCNCEBFSHEE TS -

N 3-JAW STEEL BODY CHUCKS

NEW.

4 FFEEINS RIS S - MM  FRSMER -
5. EEMRFHIDE/IVRIEIRES -

R = & > Dimensions

;

oo |

— |

E

|

=T
eC
oD
oA

e
L
|

45 ma B0 & [E 735 5% 88 > Illustrate

¢

—

1.Can be used as a "Forming plate" for machining

soft jaws.

2.Hard jaws and soft jaws can be adjusted just like
on a power Chuck to increase the gripping range.

3.Hard jaws as well as Soft jaws are
interchangeable with those of power chucks.

4.Chuck Body is made of steel to enhance safety
operations for high speed machining.

5.The Chuck Handle can be operated easily and

smoothly.

ORISR T A B AR

U T AR EREEEE N0 AZE

Fr O HHEE

TE T R A AR T A

S5 MESS B MEERE A 25 T

& Bl b

iEiSAR

The chuck can be used as a
"Forming plate" for machining
soft jaws.

Top jaws can be adjusted
back and forth easily, thus

increasing gripping range.

#7 #& 5= > Specifications
R
A B
/SPEC. G
NT-07 193 78 155
NT-09 233 85 190
NT-10 275 91 230
NT-12 310 104 260
B RS
MODEL M R
/ SPEC.
NT-07 20 12
NT-09 25 14
NT-10 30 16
NT-12 30 21

172
210
250
285

E

58
70
89
105

BEEE
Max.
Speed
r.p.m.(min")

3200
2800
2400
2100

Hard jaws are interchangable
with those of power chucks.

55
55

Soft jaws are interchangeable
with those of power chucks.

G H J
3-M10x1.5P 78 28
3-M12x1.75P 92 32
3-M12x1.75P 101.5 37
3-M12x1.75P 116 47

EEEE
Max.Gripping Diameter
HAEIEE REEE
0.D.Clamping 1.D.Clamping
(mm) (mm)
08~0235 066~0235
o11~0280 085~0280
012~@330 292~0330
@15~0370 2104~0370

Optional accessory:
Mounting plate.

B2 {{[/UNIT:mm

46 11
52 12
56 12
67 14

Weight
(kg)

13.1
21.2
30.5
46.1

O 5 I\ i@ BY = T\ 7% & 88

R = B >»Dimensions

#52 #% 5= > Specifications

2 /RS

MODEL A B C D E F G H
/ SPEC.

CT-06 167 75.5 130 147 45 12 3-M10x1.5P 865
CT-07 193 B85 155 172 58 12 3-M10x1.5P 75
CT-09 233 92 190 210 70 12.5 3-M12x1.75P 85
CT-10 275 98 230 250 89 12.5 3-M12x1.75P 98
CT-12 310 111 260 285 105 14 3-M12x1.75P 110

J

22
24
28
30
32

K

28
28.5
33
38
45

L

10
11
12
12
14

M

3-M12x1.75P
3-M12x1.75P
3-M12x1.75P
3-M12x1.75P
3-M12x1.75P

3-]AW ADJUSTMENT STEEL BODY SCROLL CHUCKS

Ee0EE DEFE Max. Gripping Diameter
Max.Speed
rp.m.(min') ©.D.Clamping

4000
3500
2800
2500
2200

NEIEE

ed4~p160
24~180
85~0220
06~6260
210~2300

FCT 4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS
o] §A I\, & 5@ B PO M SRR 22 8a

R o B >» Dimensions

T A

L=

J

#7 18 7& » Specifications

BTN (548

MODEL A B C D E F G H

/ SPEC.

FCT-07 193 85 155 172 58 12 3-M10x1.5P 75 24
FCT-09 233 92 190 210 70 125 3-M12x1.75P 85 28
FCT-10 275 98 230 250 89 12.5 3-M12x1.75P 98 30
FCT-12 310 111 260 285 105 14 3-M12x1.75P 110 32

K

28.5
33
38
45

L

1
12
12
14

M

3-M12x1.75P
3-M12x1.75P
3-M12x1.75P
3-M12x1.75P

B/ UNIT:mm

RE

FPREEIRIE Weight
1.D.Clamping (kg)
048~2150 10.4
056~@170 12.9
o62~2210 20.4
070~2250 29.3
086~0290 43.7

LR EBFE Max. Gripping Diameter
Max.Speed
rp.m.(min') ©.D.Clamping

3500
2900
2500
2200

NIEIEIR

24~0180

25~0220

26~2260
210~2300

B f/UNIT:mm

FE

PREEIEIR Weight
1.D.Clamping (kg)
856~@170 13.2
262~2210 20.7
270~@250 29.8
286~@290 44.4




TKT 2-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
S sAI\ 5878 — MEMAS 2L 8a

R = & » Dimensions

y

®
é@i : d g
L]
#3 % = > Specifications EEfI/UNIT:mm
RIS /1818 e UiEE JCIEFEE Max. Gripping Diameter $&E
MODEL A B C D E F G H J K L M Max.Speed NAEIEIR MiEiEE  Weight
/ SPEC. r.p.m.(min') ©.D.Clamping 1.D.Clamping (ka)
TKT-06 167 75.5 130 147 45 12 3-M10x1.5P 73 26 405 10 3-M12x1.75P 4000 29~2160 @60~2150 10.4
TKT-07 193 85 155172 58 12 3-M10x1.5P 95 31 495 11 3-M12x1.75P 3500 210~2180 270~2170 14.6
TKT-09 233 92 190 210 70 12.5 3-M12x1.75P 110 37 50 12 3-M12x1.75P 2900 212~220 280~0210 224
£ == = 0
O] SR T\ 58 70 BY — I\ Sl 7% 5288
R < @ >» Dimensions
=
N @rﬁE‘J
Y41 9 8 §
iy
| E
: |
- +LL%
#3 18 T= > Specifications EEfi/UNIT:mm
BT [ 4RAS EoQiEE JCEFE Max. Gripping Diameter  $5E
MODEL A B C D E F G H J K L M Max.Speed AR MiEiEE  Weight
/ SPEC. r.p.m.(min") ©O.D.Clamping I.D.Clamping (kg)
KT-06 167 75.5 130 147 45 12 3-M10x1.5P 68 26 40 10 3-M12x1.75P 4000 28~2160 ©55~8150 9.7
KT-07 193 85 155 172 58 12 3-M10x1.5P 82 28 43 11 3-Mi12x1.75P 3500 28~0180 262~6170 13.6
KT-09 233 92 190 210 70 125 3-Mi12x1.75P 93 32 51 12 3-Mi12x1.75P 2900 211~2220 270~6210 21.5
KT-10 275 98 230 250 89 125 3-M12x1.75P 102 35 54 12 3-Mi2x1.75P 2500 212~0260 280~0250 30.4
KT-12 310 111 260 285 105 14 3-M12x1.75P 118 40 58 14 3-M12x1.75P 2200 215~2300 290~6290 45.4

I 4-]AW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
o] §A 3\, 538 70 BY PO M SRR ZE BE

R I B » Dimensions

.
=l

CBREE M| | ¢

—F

L B E}%

#5 #% & > Specifications B8 {'I/UNIT:mm
RIS /308 e ESE EIEEE Max. Gripping Diameter B8
MODEL A B C D E F G H J K L M Max.Speed  simiz mEEm Weight
/ SPEC. rp.m.(min') ©.D.Clamping 1.D.Clamping (kg)
FKT-07 193 85 155172 58 12 3-M10x1.5P 82 28 43 11 3-M12x1.75P 3500 28~0180 @62~2170 141
FKT-09 233 92 190 210 70 125 3-M12x1.75P 93 32 51 12 3-M12x1.75P 2900 o11~0220 070~2210 22
FKT-10 275 98 230 250 89 12.5 3-M12x1.75P 102 35 54 12 3-M12x1.75P 2500 @12~0260 ©80~2250 33.5
FKT-12 310 111 260 285 105 14 3-M12x1.75P 118 40 58 14 3-M12x1.75P 2200 @15~300 290~0230 46.1
R = B > Dimensions
m
e I
#R5 1& 5% > Specifications B fiI/UNIT:mm
B 58 PE
MODEL A B c D E F G H J K L M N Weight
/SPEC. (kg)
S004Jaw 52 30 19 24 9.53 7.94 Mex1P 14 11 3 2.5 21 7 0.45
SO05Jaw 62 35 24 32 12.68 7.94 M8x1.25P 15 14 3.5 3 24 9 0.9
SO06Jaw 73 37 26 38.1 12.68 7.94 M8x1.25P 17.45 14 3.5 3 25 9 1.3
SO07Jaw 95 48 a1 44 .4 12.68 7.94 M10x1.5P 25.3 17 3.8 3 34 1 2.6
SO09Jaw 110 48 37 54 19.03 12.7 M12x1.75P 28 19 4.2 3 34 13 3.6
SO12Jaw 125 54 42 63.5 19.03 12.7 M12x1.75P 30.75 19 4.2 3 38 13 55
SO16Jaw 160 70 50 76.2 19.03 12.7 M16x2P 41.9 25 55 6 48 17 10.4



B2 DIN6350 R1D B2 DIN6350

3-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS
g AT\ @B = A% ZE8E

3-JAW STEEL BODY SCROLL CHUCKS
HEE = )T\SHR%2EE

R o B >» Dimensions R = B > Dimensions

!% 1z
oE
|
oC
abD
oA

H
==l |
o s

#7 1& & » Specifications B {/UNIT:mm #52 4% & > Specifications 88 7/UNIT:mm
IS /3848 EmL§EE JEiEEEE Max. Gripping Diameter AT /3548 Si0EE RIEMEE Max. Gripping Diameter
MODEL A B C D E G F H J K L Max.Speed SR s MODEL A B C D E F G H J K M L Max.Speed SR IOIE PR
/SPEC. rp.m.(min")  O.D.Clamping 1.D.Clamping /SPEC. rp.m.(min") O.D.Clamping 1.D.Clamping
3DCT-03 80 45.5 56 67 16 3-M6x1P 3 35 11 145 7 5600 02-074 025-068 3DACT-04 100 60 70 83 20 10 3-M8x1.25P 42 14 17 4-M8x1.25P 8 5200 ©3-095 230-83
3DCT-04 100 583 70 83 20 3-M8x1.25P 3 42 14 17 8 5200 23-095 230-083 3DACT-05 125 65 95 108 32 105 3-MBx1.25P 50 16 20 4-M10x1.5P 8 4800 23-0122 235-0111
ggg'gg :gg 5255 19255 Igg ig gﬂ?g‘ '122:2 : zg :g gg 130 :ggg e’iﬂgﬁ “22‘9:;; 3DACT-06 160 725 125 140 42 12 3-Mi0x1.5P 65 19 23 4-M12x1.75P 10 4200 04-0160 046-0155
- - x1. 04-0 046-0
3DCT-08 200 745 160 176 55 3-M10x1.5P 4 75 22 28 1 3500 04-5197 051-0184 3DACT-08 200 825 160 176 55 12 3-M10x15P 75 22 28 4-Mi12x1.75P 11 3500 24-0197 051-0184
3DCT-10 250 83 200 224 76 3-M12x1.75P 5 98 o8 1385 12 2600 06-0267 270-0252 3DACT-10 250 9 200 224 76 13 3-M12x1.75P 98 28 38.5 4-M12x1.75P 12 2600 06-0267 070-0252
3DCT-12 315 94 260 286 103 3-M16x2P 5 110 30 445 14 2200 010-0325 281-0308 3DACT-12 315 103 260 286 103 14 3-Mi6x2P 110 30 44.5 4-M12x1.75P 14 2200 210-0325 ©81-2308
3DCT-15 400 112 330 362 136 3-M16x2P 5 146 40 56 17 1600 214-p428 2106-2410 3DACT-15 400 122 330 362 136 15 3-M16x2P 146 40 56 4-M12x1.75P 17 1600 014-p428 2106-6410

%2 DIN6350

2% DING350 F1)

4-JAW STEEL BODY SCROLL CHUCKS
£ 55 Y PO T\ S 2 Ia 0 |

4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCK
o 58 =X &% & AU PO T\ SH 58 5= 58 L.

= =F B > Dimensions JR < B > Dimensions

E $
E
g k E
T 3
2 P
(E M
#3 %% & > Specifications BE{i7/UNIT:mm #3 ¥% 3% > Specifications BE{U/UNIT:mm
RIS /3RS B E#EE CIEFEE Max. Gripping Diameter bt o = i0iEiE IZIEFEE Max. Gripping Diameter
MODEL A B (o] D E G F H J K L Max.Speed NEOIE AEEIRE MODEL A B C D E F G H J K M L Max.Speed AR PUEEIRiE
/ SPEC. rp.m.(min')  O.D.Clamping 1.D.Clamping / SPEC. rp.m.(min') O.D.Clamping 1.D.Clamping
4DCT-08 200 74.5 160 176 55 3-M10x1.5P 4 75 22 28 11 3500 04-0197 ©51-p184 4DACT-08 200 825 160 176 55 12 3-M10x1.5P 75 22 28  4-M12x1.75P 11 3500 04-6197 @51-p184
4DCT-10 250 83 200 224 76 3-M12x1.75P 5 98 28 385 12 2600 26-0265 270-8250 4DACT-10 250 91 200 224 76 13 3-M12x1.75P 98 28 385 4-Mi2x1.75P 12 2600 ©6-0265 @70-8250
4DCT-12 315 94 260 286 103 3-M16x2P 5 110 30 445 14 2200 210-8325 281-2308 4DACT-12 315 103 260 286 103 14 3-M16x2P 110 30 445 4-M12x1.75P 14 2200 210-8325 ©81-2308
4DCT-15 400 112 330 362 136 3-M16x2P 5 146 40 56 17 1600 214-408 2106-9389 4DACT-15 400 122 330 362 136 15 3-Mi16x2P 146 40 56 4-M12x1.75P 17 1600 214-0408 2106-2389

51



B2 DIN6350

B
DIN6350 [1D 6-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS

6-JAW STEEL BODY SCROLL CHUCKS
f oI S £\ A 7T\ SHEg 5= 5E v

HEB 7T\ SHA PR ER

T Ay,

/< Y B > Dimensions R < B >» Dimensions

e |-

I
I

H

T
1

NV
§ ISl F §
#7 1% & > Specifications EEf/UNIT:mm ¥ #% 3% » Specifications ES{1/UNIT:mm
B3 /4RA8 B DEE P¥EFEE Max. Gripping Diameter R /4R R=0EE JSEEE Max. Gripping Diameter
MODEL A B o] D E G F H J K L Max.Speed DL EIOE REIREE MODEL A B C D E G F H J K L M Max.Speed IR PRIEER
/ SPEC. rp.m.(min')  O.D.Clamping 1.D.Clamping / SPEC. rp.m.(min') ©O.D.Clamping |.D.Clamping
6DCT-08 200 74.5 160 176 55 3-M10x1.5P 4 75 22 28 11 2900 24-0183 ©51-e170 6DACT-08 200 825 160 176 55 3-M10x15P 12 75 22 28 11 4-M12x1.75P 2900 24-0183 @51-8170
6DCT-10 250 83 200 224 76 3-M12x1.75P 5 98 28 385 12 2200 06-0249 270-0233 6DACT-10 250 91 200 224 76 3-M12x1.75P 13 98 28 385 12 4-M12x1.75P 2200 06-0249 070-0233
6DCT-12 315 94 260 286 103 3-M16x2P 5 110 30 445 14 1800 @10-305 ©81-0288 6DACT-12 315 103 260 286 103 3-M16x2P 14 110 30 445 14 4-M12x1.75P 1800 @10-p305 081-p288
6DCT-15 400 112 330 362 136 3-M16x2P 5 146 40 56 17 1300 214-406 ©105-g387 6DACT-15 400 122 330 362 136 3-Mi16x2P 15 146 40 56 17 4-M12x1.75P 1300 214-p406 2105-6387

B% DIN6350 B{D] 8% DIN6350

3-JAW POWERFUL STEEL BODY CHUCKS
5 JJ B = JT\$RI 7% 28R

3-JAW POWERFUL ADJUSTMENT STEEL BODY CHUCKS
o] AT\ 5 I BY = ISR 2L 0E

= Y B >» Dimensions R = B > Dimensions

Ql 8 §
F
b

#3 #& & > Specifications EfI/UNIT:mm #5 #8% T > Specifications EEI/UNIT:mm
BT /1848 B E#EE IPIEFEE Max. Gripping Diameter AU /IRAR B=i0EE IDESEE Max. Gripping Diameter
MODEL A B C D E G F H J K L Max.Speed N EEImE REEE MODEL A B C D E G F H J K L M Max.Speed e PIEEIEiE

/ SPEC. rp.m.(min')  O.D.Clamping 1.D.Clamping / SPEC. rp.m.(min') ©O.D.Clamping 1.D.Clamping
3DKT-05 125 585 95 108 32 3-M8x1.25P 4 57 24 36 8 4800 o3-e121 244-9120 3DAKT-05 125 65 95 108 32 3-M8x1.25P 105 57 24 36 8 4-M10x1.5P 4800 23-0121 044-6120
3DKT-06 160 65 125 140 42 3-M10x15P 4 68 26 385 10 4200 08-0169 850-0158 3DAKT-06 160 725 125 140 42 3-M10x15P 12 68 26 385 10 4-M12x1.75P 4200 28-0169 ©50-0158
3DKT-08 200 745 160 176 55 3-M10x1.5P 4 82 28 43 M 3500 08-0206 258-2191 3DAKT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43 11 4-M12x1.75P 3500 28-0206 258-0191
3DKT-10 250 83 200 224 76 3-M12x1.75P 5 102 35 545 12 2600 212-0266 o77-0250 3DAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 545 12 4-M12x1.75P 2600 012-0266 e77-0250
3DKT-12 315 94 260 286 103 3-M16x2P 5 1175 40 565 14 2200 215-2340 285-2313 3DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 565 14 4-M12x1.75P 2200 215-0340 285-0313
3DKT-15 400 112 330 362 136 3-M16x2P 5 150 50 745 17 1600 230-0440 2123-0416 3DAKT-15 400 122 330 362 136 3-Mi16x2P 15 150 50 745 17 4-M12x1.75P 1600 230-0440 0123-0416



B2 DIN6350

4-JAW POWERFUL STEEL BODY CHUCKS
560 7 BY DU T\ $R 7% 52 BR

< = B > Dimensions

el s
#7 & & > Specifications B{/UNIT:mm
BI5Y 1RAS EmEEE 1E{EEE Max. Gripping Diameter
MODEL A B C D E G F H J K L Max.Speed RO PR
/SPEC. rp.m.(min")  O.D.Clamping I.D.Clamping
4DKT-08 200 74.5 160 176 55 3-M10x1.5P 4 82 28 43 11 3500 08-9205 259-190
4DKT-10 250 83 200 224 76 3-M12x1.75P 5 102 35 545 12 2600 o12-0265 o78-0249
4DKT-12 315 94 260 286 103 3-M16x2P 5 1175 40 56,5 14 2200 215-9323 ©86-0296
4DKT-15 400 112 330 362 136 3-M16x2P 5 150 50 745 17 1600 830-2419 2124-9396
DIN6350 [31D) 6-JAW POWERFUL STEEL BODY CHUCKS
: i 7% Z2 88
58778473/
R = B > Dimensions
B G
E:H;ﬁ
| U
M—L..a
et el €l 8l
f—m-: ;1; rh :
T ]| |E YW
T E
L
#73 1% & » Specifications BEI/UNIT:mm
R /384 SEHEEE JD{EFEE Max. Gripping Diameter
MODEL A B C D E G F H J K L Max.Speed RO PR
/SPEC. r.p.m.(min")  ©O.D.Clamping 1.D.Clamping
6DKT-08 200 74.5 160 176 55 3-M10x1.5P 4 82 28 43 11 2900 217-2193 067-0178
6DKT-10 250 83 200 224 76 3-Mi12x1.75P 5 102 35 545 12 2200 219-0248 p84-9232
6DKT-12 315 94 260 286 103 3-M16x2P 5 1175 40 565 14 1800 023-9323 293-8296
6DKT-15 400 112 330 362 136 3-M16x2P 5 150 50 745 17 1300 230-0419 2124-p396

B2 DIN6350

o] 88 3\, 58 7] BY PO T\ i 7% 52 BE

R o B > Dimensions

=<
(=]
A oy

#8748 & > Specifications
B RS
MODEL A B C D E G F H J K
/ SPEC.
4DACT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43
4DACT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 545
4DACT-12 315 103 260 286 103 3-M16x2P 14 1175 40 56.5
4DACT-15 400 122 330 362 136 3-Mi6x2P 15 150 50 745

&% DIN6350

o] SR T\ 5 I B 7R 22 8A

R < B » Dimensions

H
el
=

i e
#8718 2 > Specifications
Eihap
MODEL A B C D E G F H J K
/ SPEC.

6DAKT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43

6DAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 545
6DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 56.5
6DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 74.5

12
14
17

11
12
14
17

4-JAW POWERFUL ADJUSTMENT STEEL BODY CHU

M

4-M12x1.75P
4-M12x1.75P
4-M12x1.75P
4-M12x1.75P

BE{i[/UNIT:mm

e OEEER {P{RFIE Max. Gripping Diameter

Max.Speed SLEEHDE

r.p.m.(min") ©O.D.Clamping
3500 28-9205
2600 012-0265
2200 215-0323
1600 230-0419

PIEIEE
I.D.Clamping

©59-g190

078-0249

086-0296
©124-0396

M

4-M12x1.75P
4-M12x1.75P
4-M12x1.75P
4-M12x1.75P

EE(i/UNIT:mm

e DR E#EEEE Max. Gripping Diameter

Max.Speed AR

r.p.m.(min") ©O.D.Clamping
2900 217-2193
2200 019-0248
1800 223-0323
1300 230-0419

Rt =
I.D.Clamping

067-6178

084-0232

©93-0296
0124-0396

CKS

CKS



(Made In USA)
=ERE

(Made In USA)
EERS

LMC: Workholding

I ERER SR S S e RS —

SEAREE - X/\BIFE - BT sE

LMC Workholding7EftfEEIEE=EE ~ (\EIFE - K FEME TinERISEmE
i T EiSENAEES - OKUMA iRBMEERES IR AN D 2LSHHE
FEHFEVEE - TILMC 2ES{ERH - Z({EEBE1E Okuma > LMC ~ Chiron
FIFanuc Robotics -

LMCTHS8 o] DURERE R B RAFT T iRt oaRs W Ti2enEin
BYETE  SHEEFLHEERR VTR S S EAERE - BFIRIRHARENIeTEE
EC{FFREYHEEL - {SELMC » W EBTSiRaasEnIEX -

LMC: Workholding

EEFER RV AT

KRS HEIEESEMm ESiRmERSE TR - WTi BRREESSEF/ElE
ESHVEREE - M EREE149F1209mm « FEFAEIHE R AFEETIE|24.5907 -
RS A AT HESRIBEIARFLGE |

AR BYUSHRYIZCEEOIE £ 8l Edh - [EFIIRD0 T EEAFRT -
ERENEHERFBE=EERE LEEEN - EIFRAARELIHETEEE
IFtE » (EREEN ST B TRERESTH -

M— Rt
Next-generation cam arm design

LMC Workholding is rapidly becoming the marketleader
in workholding for the manufacture of wheels for
passenger cars, light trucks, trucks and buses.

LMC is a partner in the Okuma Wheel Team which
provides the bulk of wheel cell equipment worldwide.
Okuma, LMC, Chiron and Fanuc Robotics make up
the Wheel Team.

LMC has engineered new wheel chuck technologies to include quick
change and lightweight models.Our engineering staff offers years of
wheel chuck design and implementation experience.

Years of hydraulic actuator and power chuck experience too.

LMC also offers matching wheel chuck cylinders. Rely on LMC
Workholding for your wheel production needs.

This chuck, available in four models, does it all. The
WTi fits automobile and light truck wheels 149 to
209, truck and bus wheels up to 24.59.

Contact LMC Workholding for the optimum clamping
solution. US Series chucks are lightweight for
increased spindle life and faster cycle times.

Optional part detection system, consisting of three
air-activated plungers, senses whether or not the
workpiece is properly seated, an essential
component for any automatic/robot loaded
application.

< < B > Dimensions L
TEOEEE Weight
(Base Chuck Only)
450
400
350
300
o 250
— 200
150
© 100
|' 50
\ 0 uUs-1420 US-1524 Wt-310 Wi-322
! {SHIEE . BENEME (E5e5E)
Part Rotationallnertia (Base Chuck Only)
Detection 5
45
4
o 35
RIEFFIRAE PRI EHER RS REREHUIE t 2:
oYy & T A Ty - S+
Unclamp Draw end position Swing point Unclamp position Clamp Unclamp 2 2
15
s
05
0 Us1420 US-1524 Wi-310 Wii-322
#5 % = > Specifications
Q25 : Capacity ; Drawbar Drawbar n Chuck 2 ;
= Model Wheel RPM's Pull Strok Spindle Weigh A Dia. B Dia.
T " Number b (max) = B0k Mount el (in/mm) (infmm)
- 24 WTi-322 US-1524 Diameter (Ibs) (in/mm) (Ibs)
23" [\BUREE ~ REE IVBURES ~ RE
oo B E - _
(Light Truck. Truck. (Light Truck. Truck. WTi-310/US-1420 14 to 20 2800 7700 1.38/35 A2-8 264/160 21.50/546.2 5.90/149.7
21" Bus) Bus)
i 20" : i LP 2200rpm 2200rpm __
. P L 4 - WTi-322/US-1524 1510245 2200 7700 1.38/35 A2-11 410240  26.00/660.0  7.85/199.5
g__ 19 = . EEE = . \ERE =5~ \ElEE Min15" Max.245" — Min.15" Max.24.5"
. 18" (Passenger Car. (Passenger Car. (Passenger Car.
B ., Light Truck) Light Truck) Light Truck) -
g 17 il SS-3/4EX S-3/4EX L-3/4EX XL-3/4EX Z-3/4EX*
. o 2800rpm 2800rpm 2800rpm Model
Min14" Max205"  Min14" Max205"  Mini5" Max205" hdmbar E F E F E & E F E F
15"
14" . i -
13" WTi-310/US-1420 21.5/547  22.4/570 21.5/547 23.0/584 22.0/559 24.1/611 23.1/587 25.0/634 24.3/618 26.2/665
12"
= 1 WTi-322/US-1524 26.0/660 26.5/673 26.0/660 27.5/698 26.6/675 28.5/724 27.6/702 29.5/749 28.6/727 30.5/774
=
o 10"

57



LMC: Workholding

BELEERS (BBEEEFD)

(Made In USA)
=ERE

IRIEARZEDE - BSERRmBIHHZTHIREESF OEM HER
HEMREEADARBEORTFERFER - 8—EOiRFEEIT15~2007

ZARNERY - ERAEERRS -
1TERAIRT

2 R iR FEEIFTREE
3. 1R T

LPSFHRIEAISSEN/NE-FEMBa BRI - EEMERII TSRS
FIEXETHUERME » MENEHHVII TSHERARIIESS -

i B P2 BA 85 AR JHBR EL

(Made In USA)
EERS

LMC: Workholding

IREEFIENRS / HEREL

LMC Workholdingt@ s R in &l 2L 8a 5Bl B8 St V2R EaHIS) 28 - ;EMTSEHER
T R EEERHERKEIES » (RICCALIRIREVEE IAFFIMES - MEsE
~ EREEHVER ST RIFAEERNIRANRGE » BB HEEE -

2R 120 /REEHEL - BARIESHESERLESGERER - DUKIRE DL
RNW ARSSEGHERE » SESESERIRIEIR Y =/THEEE » aRiFE DD
1 e

Adjusting a cam arm from one wheel diameter to
another in seconds makes this chuck ideal for
aftermarket wheel manufacturers and OEM suppliers
who handle shori-run specialty wheels.

Each cam arm handles 6 ranges within 15"t020" wheel
size capacity. One: Insert wrench. Two: Crank cam
arms to desired diameter. Three: Remove wrench.

= = B > Dimensions

The LPS Series for automobiles and light trucks
allows for variations in raw castings as well as for
new “fashion” wheel designs where material is
added to the raw casting for first operation holding.

P& FB &6 51l > Operation Example

LMC Workholding offers two chuck actuators specifi

Model 2R 120 is a single-motion cylinder ideal for

cally designed for wheel chuck applications like yours.  applications that use solid mandrels or spring rings

These hydraulic cylinders offer optimum hydraulic
system pressure settings for the fastest clamping/
unclamping action available.

for wheel centering. RNW is a dual-function cylinder
that is ideal for applications that actuate a collet or a
small three-jaw chuck for wheel centering.

And their shorter lengths and lighter weights enhance

lathe acceleration and deceleration while improving
machine dynamics.

< Y B > Dimensions

RNW 40

2R 120

M20 P1.5x30DP. TRSAISERHEL . M28 P1.5x350P.
SRR TR BT Recessed 66mm Stroke Detection Clamping Cylinder
Stroke Detection Stroke Detection Clamping Cylind% M50 P1.5x30DP. !
Centering Cylinder h /
/ o By
- - 1 w0 1 =7 ] . I~
=== SEEL =ELk
1 o— |
| _— | 3
e Sy —| -
—— \ 70max | !
: (35min)
Drain Port 42max|
) P 6-M10x95 7min)
293 190 dia.B.C
B-M10x85
150 dia.B.C
#7 8% 3= > Specifications
RE {TERERY BFEHEEEL  Clamping Cylinder
RENTFHE L e HIARHIS] g Length Stroke Time O x {718 EEEE
Capacity Wheel Diameter RPM's (max) Drawbar Pull (Ibs) Drawbar Stroke (in/mm) (mm) (sec) Bore x Stroke (mm) Piston Area (in2/ cm?)
2R-120 269 1.6 120 x 35 15.8 /102
15" to 20" 2800 7700 1.38/35
293 2.3 (0.4) 146 x 35 17.2/111
d\HEEEL  Centering Cylinder BAHS = bt S E
s 5 T x (TFE 3 Max. oper, Pressure RPM's Cylinder Weight
E= T SRALSE ARYT BRY CfE x 7772 EEER o
Spindle Mount Chuck Weight (Ibs) A Dia. (in/mm) B Dia. (in/mm) B0re x Brcks (mm) RPN ALS (et Al M )
2R-120 n/a n/a 568 / 40 5000 33
A2-8 330 29.45/748.0 7.32/186.0
50x12 1.2/8 568 / 40 4000 50



CHANDOX



	p00'10千島封
	p01-02
	p03-04
	p05-06
	p07-08
	p09-10
	p11-12
	p13-14
	p15-16
	p17-18
	p19-20
	p21-22
	p23-24
	p25-26
	p27-28
	p29-30
	p31-32
	p33-34
	p35-36
	p37-38
	p39-40
	p41-42
	p43-44
	p45-46
	p47-48
	p49-50
	p51-52
	p53-54
	p55-56
	p57-58
	p59-60
	p61-62

